Metal Technology

1-2139



\

2007/04/19 10:21:09AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

13 13
Record Count: 8
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00001 shelf cab. 03 box 16 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
6-32 HELI-COIL INSERT, 13/64L 01 EA 10
5340-00-682-1520
Sub Total: 10
6-32 HELI-COIL INSERT, 9/32L 02 EA 10
5340-00-825-4826
Sub Total: 10
6-32 HELI-COIL INSERT, SCREW LOCKING, 13/64L 03 EA 10
5340-00-815-4930
Sub Total: 10
6-32 HELI-COIL EXTRACTOR 04 EA 1
5120-00-245-9539
Sub Total: 1
6-32 HELI-COIL INSERT, SCREW LOCKING, 9/32L 05 EA 10
5340-00-558-8826
Sub Total: 10
6-32 HELI-COIL INSERTER 06 EA 1
5120-00-816-5704
Sub Total: 1
6-32 HELI-COIL TANG BREAK-OFF TOOL 07 EA 1
5120-00-935-4541
Sub Total: 1
6-32 HELI-COIL TAP 08 EA 2
5136-00-045-0596
Sub Total: 2

Page 1 of 2

1-2140



2007/04/19 10:21:09AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 8
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00001 shelf cab. 03 box 16 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 45

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2141



2007/04/19 10:27:44AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00010 shelf cab. 03 box 7 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, MEDIUM EA 1
5140-00-935-0719
INVENTORY LIST EA 1
Sub Total: 2
3/8-24 HELI-COIL TAP 01 EA 1
5136-00-825-7090
Sub Total: 1
3/8-24 HELI-COIL TANG BREAK-OFF TOOL 02 EA 1
5120-00-937-9733
Sub Total: 1
3/8-24 HELI-COIL INSERT, SCREW LOCKING 3/4L 03 EA 8
5325-00-678-3311
Sub Total: 8
3/8-16 HELI-COIL INSERT, SCREW LOCKING, 9/16L 04 EA 8
5340-00-754-1976
Sub Total: 8
3/8-24 HELI-COIL EXTRACTOR 05 EA 1
5120-00-723-6833
Sub Total: 1
3/8-24 HELI-COIL INSERT, 9/16L 06 EA 8
5325-00-291-3492
Sub Total: 8
3/8-24 HELI-COIL INSERT, 3/4L 07 EA 8
5325-01-031-4286
Sub Total: 8
3/8-24 HELI-COIL INSERTER 08 EA 1
5120-00-710-7437
Sub Total: 1

Page 1 of 2

1-2142



2007/04/19 10:27:44AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00010 shelf cab. 03 box 7 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 38

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2143



2007/04/19 10:28:10AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00011 shelf cab. 03 box 6 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, MEDIUM EA 1
5140-00-935-0719
INVENTORY LIST EA 1
Sub Total: 2
7/16-14 HELI-COIL TANG BREAK-OFF TOOL 01 EA 1
5120-00-937-9734
Sub Total: 1
7/16-14 HELI-COIL TAP 02 EA 1
5136-00-825-7092
Sub Total: 1
7/16-14 HELI-COIL INSERT SCREW LOCKING, 7/8L 03 EA 6
5340-00-723-6775
Sub Total: 6
7/16-14 HELI-COIL INSERT SCREW LOCKING, 21/32L 04 EA 6
5340-00-701-3811
Sub Total: 6
7/16-14 HELI-COIL EXTRACTING TOOL 05 EA 1
5120-00-251-1527
Sub Total: 1
7/16-14 HELI-COIL INSERT, 7/8L 06 EA 6
5340-00-598-5638
Sub Total: 6
7/16-14 HELI-COIL INSERT, 21/32L 07 EA 6
5340-00-290-4506
Sub Total: 6
7/16-14 HELI-COIL INSERTER 08 EA 1
5120-00-797-2403
Sub Total: 1

Page 1 of 2

1-2144



2007/04/19 10:28:10AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00011 shelf cab. 03 box 6 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 30

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2145



2007/04/19 10:28:32AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00012 shelf cab. 03 box 5 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, MEDIUM EA 1
5140-00-935-0719
INVENTORY LIST EA 1
Sub Total: 2
7/16-20 HELI-COIL TANG BREAK-OFF TOOL 01 EA 1
5120-00-937-9734
Sub Total: 1
7/16-20 HELI-COIL TAP 02 EA 1
5136-00-825-7093
Sub Total: 1
7/16-20 HELI-COIL INSERT, SCREW LOCKING, 7/8L 03 EA 6
5340-00-619-4227
Sub Total: 6
7/16-20 HELI-COIL INSTER, SCREW LOCKING, 21/32L 04 EA 6
5340-00-678-3310
Sub Total: 6
7/16-20 HELI-COIL EXTRACTING TOOL 05 EA 1
5120-00-251-1527
Sub Total: 1
7/16-20 HELI-COIL INSERT, 7/8L 06 EA 6
5340-00-290-4511
Sub Total: 6
7/16-20 HELI-COIL INSERT, 21/32L 07 EA 6
5340-00-634-7860
Sub Total: 6
7/16-20 HELI-COIL INSERTER 08 EA 1
5120-00-797-2407
Sub Total: 1

Page 1 of 2

1-2146



2007/04/19 10:28:32AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00012 shelf cab. 03 box 5 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 30

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2147



2007/04/19 10:28:57AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 8
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00013 shelf cab. 03 box 4 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, MEDIUM EA 1
5140-00-935-0719
INVENTORY LIST EA 1
Sub Total: 2
1/2-13 HELI-COIL TANG BREAK-OFF TOOL 01 EA 1
5120-00-544-9174
Sub Total: 1
1/2-13 HELI-COIL TAP 02 EA 1
5136-00-876-8910
Sub Total: 1
1/2-13 HELI-COIL EXTRACTING TOOL 03 EA 1
5120-00-251-1527
Sub Total: 1
1/2-13 HELI-COIL INSERTER 04 EA 1
5120-00-861-1170
Sub Total: 1
1/2-13 HELI-COIL INSERT, 3/4L 05 EA 6
5340-00-290-4504
Sub Total: 6
1/2-13 HELI-COIL INSERT, SCREW LOCKING, 3/4L 06 PG 6
5340-00-814-9865
Sub Total: 6

Page 1 of 2

1-2148



2007/04/19 10:28:57AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 8
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00013 shelf cab. 03 box 4 HELI-COIL KIT PG 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 18

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2149



2007/04/19 10:29:21AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 8
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00014 shelf cab. 03 box 3 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, MEDIUM EA 1
5140-00-935-0719
INVENTORY LIST EA 1
Sub Total: 2
1/2-20 HELI-COIL TANG BREAK-OFF TOOL 01 EA 1
5120-00-544-9174
Sub Total: 1
1/2-20 HELI-COIL TAP 02 EA 1
5136-00-825-7096
Sub Total: 1
1/2-20 HELI-COIL EXTRACTING TOOL 03 EA 1
5120-00-251-1527
Sub Total: 1
1/2-20 HELI-COIL INSERTER 04 EA 1
5120-00-672-8897
Sub Total: 1
1/2-20 HELI-COIL INSERT, 3/4L 05 EA 6
5340-00-291-3488
Sub Total: 6
1/2-20 HELI-COIL INSERT, SCREW LOCKING, 3/4L 06 EA 6
5340-00-678-3309
Sub Total: 6

Page 1 of 2

1-2150



2007/04/19 10:29:21AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 8
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00014 shelf cab. 03 box 3 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 18

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2151



2007/04/19 10:29:47AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 7
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00015 shelf cab. 03 box 2 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, MEDIUM EA 1

5140-00-935-0719

INVENTORY LIST EA 1

Sub Total: 2

5/8-18 HELI-COIL INSERT, 15/16L 01 EA 5
5340-00-530-7948

Sub Total: 5

5/8-18 HELI-COIL EXTRACTING TOOL 02 EA 1
5120-00-251-1527

Sub Total: 1

5/8-18 HELI-COIL TAP 03 EA 1
5136-00-825-7102

Sub Total: 1

5/8-18 HELI-COIL INSERTER 04 EA 1
5120-00-244-1712

Sub Total: 1

5/8-18 HELI-COIL INSERT SCREW LOCKING, 15/16L 05 EA 1
5340-00-834-8362

Sub Total: 1

CTK Component Total: 11

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 1 of 1

1-2152



120 Y \

Record Count: 6

2007/04/19 10:30:16AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00016 shelf cab. 03 box 1 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

TOOL BOX, PRTABLE, HELI-COIL KIT, LARGE EA 1
5140-00-935-4519

INVENTORY LIST EA 1

Sub Total: 2

1 1/8-12 HELI-COIL INSERT, 1 11/16L 01 EA 3
5340-01-089-9370

Sub Total: 3

11/8-12 HELI-COIL INSERTER 02 EA 1
5120-00-779-5354

Sub Total: 1

1 1/8-12 HELI-COIL EXTRACTING TOOL 02A EA 1
5120-00-804-6059

Sub Total: 1

11/8-12 HELI-COIL TAP 03 EA 1
5136-00-884-3914

Sub Total: 1

CTK Component Total: 8

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

Page 1 of 1

by:

by:

1-2153



2007/04/19 10:21:42AM
Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00002 shelf cab. 03 box 15 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

TOOL BOX, PRTABLE, HELI-COIL KIT, SMALL EA 1
5140-00-935-0720

INVENTORY LIST EA 1

Sub Total: 2

8-32 HELI-COIL INSERT, SCREW LOCKING, 21/64L 01 EA 1
5340-00-721-6936

Sub Total: 1

8-32 HELI-COIL INSERT, SCREW LOCKING, 1/4L 02 EA 10
5340-00-815-4929

Sub Total: 10

8-32 HELI-COIL INSERT, 21/64L 03 EA 10
5340-00-290-4509

Sub Total: 10

8-32 HELI-COIL EXTRACTOR 04 EA 1
5120-00-245-9539

Sub Total: 1

8-32 HELI-COIL INSERT, 1/4L 05 EA 10
5340-00-297-3841

Sub Total: 10

8-32 HELI-COIL INSERTER 06 EA 1
5120-00-237-4669

Sub Total: 1

8-32 HELI-COIL TANG BREAK-OFF TOOL 07 EA 1
5120-00-937-9729

Sub Total: 1

8-32 HELI-COIL TAP 08 EA 2
5136-00-825-7133

Sub Total: 2

Page 1 of 2

1-2154



2007/04/19 10:21:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00002 shelf cab. 03 box 15 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 38

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2155



13 15

Record Count: 5

\

2007/04/19 10:31:39AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00020 Cabinet 03 B 3 CORDLESS DRILL 12 VOLT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert
INSTRUCTIONS IN CASE EA 1
INVENTORY LIST IN CASE EA 1
DRILL, CORDLESS 12 VOLT IN CASE EA 1
BATTERY, CORDLESS 12VOLT IN CASE EA 1
CASE/CORDLESS DRILL 12VOLT IN SHOP EA 1

Sub Total: 5

CTK Component Total: 5
Inventory Reviewed on (date): by:
Brian Smith, SMSGT
Assistant Fabrication Flight Chief
Inventory Reviewed and Approved on (date): by:
Scott Schroeder, SMSGT
Fabrication Flight Chief

Page 1 of 1

1-2156



13 £
Record Count: 4

\

2007/04/19 10:32:07AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00021 Cabinet 02 D 4 CORDLESS DRILL 14 VOLT 3 EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert
INVENTORY LIST IN CASE EA 1
DRILL, CORDLESS 14 VOLT IN CASE EA 1
BATTERY, CORDLESS 14VOLT IN CASE EA 1
CASE/CORDLESS DRILL 14VOLT IN SHOP EA 1
Sub Total: 4

CTK Component Total: 4
Inventory Reviewed on (date): by:
Brian Smith, SMSGT
Assistant Fabrication Flight Chief
Inventory Reviewed and Approved on (date): by:
Scott Schroeder, SMSGT
Fabrication Flight Chief

Page 1 of 1

1-2157



2007/04/19 10:22:05AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00003 shelf cab. 03 box 14 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, SMALL EA 1
5140-00-935-0720
INVENTORY LIST EA 1
Sub Total: 2
10-24 HELI-COIL INSERT, SCREW LOCKING, 9/32L 01 EA 10
5340-00-680-3762
Sub Total: 10
10-24 HELI-COIL INSERT, SCREW LOCKING, 3/8L 02 EA 10
5340-00-990-8643
Sub Total: 10
10-24 HELI-COIL INSERT, 9/32L 03 EA 10
5340-00-597-3304
Sub Total: 10
10-24 HELI-COIL EXTRACTOR 04 EA 1
5120-00-723-6833
Sub Total: 1
10-24 HELI-COIL INSERT, 3/8L 05 EA 10
5340-00-290-4478
Sub Total: 10
10-24 HELI-COIL INSERTER 06 EA 1
5120-00-816-5706
Sub Total: 1
10-24 HELI-COIL TANG BREAK-OFF TOOL 07 EA 1
5120-00-937-9730
Sub Total: 1
10-24 HELI-COIL TAP 08 EA 2
5136-00-825-7132
Sub Total: 2

Page 1 of 2

1-2158



2007/04/19 10:22:05AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00003 shelf cab. 03 box 14 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 47

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2159



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert
KEY, TOOL BOX EA 2
INVENTORY LIST EA 1
Sub Total: 3

Page 1 of 16

1-2160



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

SOCKET, 1/4" (3/8" DRIVE) 0101 EA 1
5120-01-350-1002

SOCKET, 5/16" (3/8" DRIVE) 0102 EA 1
5120-01-350-1003

SOCKET, 11/32" (3/8" DRIVE) 0103 EA 1
5120-01-350-1004

SOCKET, 3/8" (3/8" DRIVE) 0104 EA 1
5120-01-350-1005

SOCKET, 7/16" (3/8" DRIVE) 0105 EA 1
5120-01-350-1006

SOCKET, 1/2" (3/8" DRIVE) 0106 EA 1
5120-01-350-1007

SOCKET, 9/16" (3/8" DRIVE) 0107 EA 1
5120-01-350-0989

SOCKET, 19/32" (3/8" DRIVE) 0108 EA 1

SOCKET, 5/8" (3/8" DRIVE) 0109 EA 1
5120-01-350-0990

SOCKET, 11/16" (3/8" DRIVE) 0110 EA 1
5120-01-350-0991

SOCKET, 3/4" (3/8" DRIVE) 0111 EA 1
5120-01-350-0992

SOCKET, 13/16" (3/8" DRIVE) 0112 EA 1
5120-01-350-0993

SOCKET, 7/8" (3/8" DRIVE) 0113 EA 1

SOCKET, 15/16" (3/8" DRIVE) 0114 EA 1
5120-01-350-0994

SOCKET, 1" (3/8" DRIVE) 0115 EA 1
5120-01-350-0995

SOCKET, DEEP 1/4" (3/8" DRIVE) 0116 EA 1
5120-01-335-0902

SOCKET, DEEP 5/16" (3/8" DRIVE) 0117 EA 1
5120-01-335-0903

SOCKET, DEEP 3/8" (3/8" DRIVE) 0118 EA 1
5120-01-335-0904

SOCKET, DEEP 7/16" (3/8" DRIVE) 0119 EA 1
5120-01-335-0905

SOCKET, DEEP 1/2" (3/8" DRIVE) 0120 EA 1
5120-01-335-0906

SOCKET, DEEP 9/16" (3/8" DRIVE) 0121 EA 1
5120-01-335-0907

SOCKET, DEEP 19/32" (3/8" DRIVE) 0122 EA 1
5120-01-335-0908

SOCKET, DEEP 5/8" (3/8" DRIVE) 0123 EA 1
5120-01-335-0909

SOCKET, DEEP 11/16" (3/8" DRIVE) 0124 EA 1
Page 2 of 16

1-2161



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
SOCKET, DEEP 3/4" (3/8" DRIVE) 0125 EA 1
5120-01-335-0911
SOCKET, DEEP 13/16" (3/8" DRIVE) 01 26 EA 1
5120-01-335-0912
SOCKET, DEEP 7/8" (3/8" DRIVE) 01 27 EA 1
5120-01-335-0857
SOCKET, DEEP 15/16" (3/8" DRIVE) 0128 EA 1
5120-01-335-0858
SOCKET, DEEP 1" (3/8" DRIVE) 0129 EA 1
5120-01-335-0859
BREAKER BAR, (3/8" DRIVE) 0130 EA 1
5120-01-335-0742
SOCKET EXTENSION 11" (3/8" DRIVE) 0131 EA 1
5120-01-335-1061
SOCKET EXTENSION 3" (3/8" DRIVE) 0132 EA 1
5120-01-335-1057
SOCKET EXTENSION 6" (3/8" DRIVE) 0133 EA 1
5120-01-335-1059
RATCHET (3/8" DRIVE) 0135 EA 1
5120-01-335-0720
HANDLE, SOCKET (3/8" DRIVE) 0135 EA 1
5120-00-288-6514
SPEED HANDLE (3/8" DRIVE) 01 36 EA 1
5120-01-335-1865
UNIVERSAL JOINT (3/8" DRIVE) 01 37 EA 1
5120-01-335-1045
SOCKET, 5/16" (1/4" DRIVE) 01 38 EA 1
5120-00-235-5878
SOCKET, 11/32" (1/4" DRIVE) 01 39 EA 1
5120-00-242-3351
SOCKET, 3/8" (1/4" DRIVE) 01 40 EA 1
5120-00-242-3352
SOCKET, 7/16" (1/4" DRIVE) 0141 EA 1
5120-00-235-5869
SOCKET, 1/2" (1/4" DRIVE) 0142 EA 1
5120-00-189-8610
SOCKET, 9/16" (1/4" DRIVE) 0143 EA 1
5120-00-061-9310
SOCKET EXTENSION 2" (1/4" DRIVE) 0144 EA 1
5120-00-227-8105
SOCKET EXTENSION 6" (1/4" DRIVE) 0145 EA 1
5120-00-243-7325
HANDLE, SOCKET (1/4" DRIVE) 01 46 EA 1
5120-00-242-3256
RATCHET (1/4" DRIVE) 01 47 EA 1
5120-00-221-7957
UNIVERSAL JOINT (1/4" DRIVE) 01 48 EA 1

5120-00-243-1686

Page 3 of 16

1-2162



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
HOLDER, APEX 1/4" (3/8" DRIVE) BIT INSTALLED 0149 EA 1
5120-00-528-2892
BIT, APEX, TORQ #10-1/4"X 1 IN HOLDER 0150 EA 1
5120-00-888-5831
HOLDER, APEX 5/16" (3/8" DRIVE) BIT INSTALLED 0151 EA 3
5120-00-331-5502
BIT, APEX, PHILLIPS #2 - 5/16" X 1.25 IN HOLDER 0152 EA 1
5130-00-240-5249
BIT, APEX, PHILLIPS #3-5/16" X 1.25 IN HOLDER 0153 EA 1
5130-00-240-5250
BIT, APEX, PHILLIPS #4 - 5/16" X 1.25 IN HOLDER 0154 EA 1
5120-00-595-8198
HOLDER, APEX 1/4" (1/4" DRIVE) BIT INSTALLED 0155 EA 3
5120-00-528-2891
BIT, APEX, PHILLIPS #1-1/4"X 1 IN HOLDER 0156 EA 1
5120-00-223-6971
BIT, APEX, PHILLIPS #2 - 1/4" X 1 IN HOLDER 0157 EA 1
5120-00-595-8197
BIT, APEX, PHILLIPS #3-1/4"X 1 IN HOLDER 0158 EA 1
5120-00-250-5576
BRUSH, CARD FILE 0159 EA 1
7920-00-224-7987
BRUSH, WIRE 0160 EA 1
7920-00-269-1259
CHUCK, TIRE 0161 EA 1
4730-00-277-6948
COUNTERSINK, HAND 0162 EA 1
DRILL, PNUEMATIC 3/8" 0163 EA 1
5130-00-288-7750
HANDLE, DRILL 01 64 EA 1
KEY, CHUCK 0165 EA 1
5460-01-018-4217
LANTERN, HEAD 01 66 EA 1
3630-00-163-1856
LEVEL 0167 EA 1
5210-01-335-1624
NOZZLE, AIR 01 68 EA 1

4940-00-861-5570
Sub Total: 72

Page 4 of 16

1-2163



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
COMB. SQ, CENTER HEAD 0201 EA 1
5210-01-335-9133
COMB. SQ, MITER HEAD 02 02 EA 1
5210-01-335-9134
COMB. SQ, PROTRACTOR HEAD 02 03 EA 1
5210-01-335-9142
DIVIDERS 8" 02 04 EA 1
5210-00-236-0376
GAGE, CENTER, 60 deg 02 05 EA 1
5210-00-222-4000
GAGE, DEPTH, RULE 6" 02 06 EA 1
5210-00-221-1902
GAGE, FEELER 02 07 EA 1
5210-01-335-2123
GAGE, SMALL HOLE (4pc + cont) 02 08 SET 5
5120-00-449-7014
GAGE, TELESCOPING (4pc + cont.) 02 09 SET 5
5120-00-473-9350
GAGE, SCREW PITCH 02 10 EA 1
5210-01-335-1618
KNIFE, CARPENTERS 0211 EA 1
5110-00-892-5071
KNIFE, POCKET 0212 EA 1
5110-01-335-1516
MIRROR, INSPECTION 16" 02 13 EA 1
5120-00-618-6902
MIRROR, INSPECTION, SMALL 02 14 EA 1
5120-01-335-1568
PUNCH, CENTER, SPRING LOADED 02 15 EA 1
5120-01-335-1465
RULE, HOOK 6" 02 16 EA 1
5120-00-239-0490
RULE, MACHINIST 6" 02 17 EA 1
5210-00-234-5223
RULE, STEEL 24" 0218 EA 1
5210-00-078-8950
RULE, STEEL MACHINIST 12" 0219 EA 1
5210-00-234-5224
SCISSORS, SLIP-n-SNIP 02 20 EA 1
5110-01-335-1602
SCRIBER 0221 EA 1
5120-00-224-9728
SQUARE, DIE MAKERS 02 22 EA 1
5210-00-257-0876
SQUARE, MACHINIST 3" 02 23 EA 1
5210-00-277-7440
TAPE, STEEL 25 02 24 EA 1

5210-01-139-7444

Page 5 of 16

1-2164



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
VISE, PIN 02 25 EA 1
5120-01-335-1372
Sub Total: 33
FILE, ROTARY BALL 0301 EA 1
3455-00-023-4277
FILE, ROTARY BARREL 03 02 EA 1
3455-00-023-4282
FILE, ROTARY BULB 03 03 EA 1
3455-00--
FILE, ROTARY INVERTED CONE 03 04 EA 1
3455-00-023-4281
FILE, ROTARY TREE 03 05 EA 1
3455-00-023-4249
FLASHLIGHT, MINIMAG 03 06 EA 1
6230-01-259-4495
HACKSAW wi/blade 03 07 EA 1
5110-01-335-1366
KNIFE, PUTTY 0308 EA 1
5120-00-221-1536
PUNCH & CHISEL SET (27pc + cont) 03 09 SET 28
KEY SET, SOCKET HEAD SCREW 0310 SET 21
5120-01-335-1506
Sub Total: 57

Page 6 of 16

1-2165



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
FORCEPS, CURVED 0401 EA 1
5120-00-012-4016
FORCEPS, STRAIGHT 04 02 EA 1
5102-00-012-4013
PICK SET (4pc + cont) 04 03 SET 5
5120-01-334-9862
SCRATCH AWL 04 04 EA 1
5120-01-335-0400
SCREWDRIVER, FLAT TIP 1/2"x12" 04 05 EA 1
5120-01-367-3715
SCREWDRIVER, FLAT TIP 1/8"x6" 04 06 EA 1
5120-01-367-3732
SCREWDRIVER, FLAT TIP 3/16"x6" 04 07 EA 1
5120-01-367-3736
SCREWDRIVER, FLAT TIP 7/16"x8" 04 08 EA 1
5120-01-367-3714
SCREWDRIVER, FLAT TIP 7/32"x 1 1/2" 04 09 EA 1
5120-00-222-8866
SCREWDRIVER, FLAT TIP 7/32"x6" 04 10 EA 1
SCREWDRIVER, OFFSET #18#2 04 11 EA 1
5120-01-367-3758
SCREWDRIVER, OFFSET #28#3 04 12 EA 1
5120-01-367-3759
SCREWDRIVER, OFFSET 1/4" 04 13 EA 1
5120-00-287-2130
SCREWDRIVER, OFFSET 3/8" 04 14 EA 1
5120-00-240-5232
SCREWDRIVER, OFFSET 5/16" 04 15 EA 1
5120-00-288-9710
SCREWDRIVER, PHILLIPS #1 X 10" 04 16 EA 1
5120-01-367-3811
SCREWDRIVER, PHILLIPS #2 X 1-1/2" 04 17 EA 1
5120-00-227-7293
SCREWDRIVER, PHILLIPS #2 X 6" 04 18 EA 1
5120-01-367-3798
SCREWDRIVER, PHILLIPS #2 X 9" 04 19 EA 1
5120-01-367-3803
SCREWDRIVER, RATCHETING 8-3/4" W/#2 APEX BIT 04 20 EA 1
5120-01-335-1485
BIT, APEX, PHILLIPS #2 -1/4" X 1 IN SCREWDRIV 04 20-01 EA 1
5120-00-595-8197
TWEEZERS (5pc + cont.) 0421 SET 6

5120-00-334-9861
Sub Total: 31

Page 7 of 16

1-2166



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

TS '
Record Count: 269
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT SET 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
FILE SET, 6" (6pc + cont) 0501 SET 7
5110-00-595-8316
FILE SET, SWISS (12pc + cont) 05 02 SET 13
5110-01-335-1600
FILE, FLAT 10" 0503 EA 1
5110-00-239-2849
FILE, FLAT 12" 0504 EA 1
5110-01-335-1583
FILE, FLAT 6" 05 05 EA 1
5110-01-335-1580
FILE, FLAT 8" 05 06 EA 1
5110-01-335-1581
FILE, FLAT CURVED TOOTH 14" 05 07 EA 1
5110-00-156-0218
FILE, HALF ROUND 10" 05 08 EA 1
5110-00-241-9153
FILE, HALF ROUND 12" 05 09 EA 1
5110-01-335-1589
FILE, HALF ROUND 6" 05 10 EA 1
5110-01-335-1586
FILE, HALF ROUND 8" 0511 EA 1
5110-01-335-1587
FILE, ROUND 8" 05 12 EA 1
5110-01-335-1576
FILE, SQUARE 12" 05 13 EA 1
5110-00-238-9664
FILE, THREAD (COARSE) 05 14 EA 1
5110-00-373-1691
FILE, THREAD (FINE) 05 15 EA 1
5110-00-516-3812
FILE, TRIANGULAR 6" 05 16 EA 1
5110-01-336-5672
FILE, TRIANGULAR 12" 0517 EA 1
5110-00-241-9167
HANDLE, FILE MEDIUM 0518 EA 3
5110-00-263-0349
HANDLE, FILE SMALL 0519 EA 1
5110-00-263-0342
DEBURRING TOOL 05 20 EA 1
5120-00-NSL-
Sub Total: 40
Page 8 of 16

1-2167



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
ATTACHMENT, DEPTH, DIAL CALIPER 06 01 EA 1
CALIPER, DIAL 6" (+ cont) 06 02 EA 2
J218127 5210-01-010-4522
INDICATOR, DIAL TEST SET (9pc + cont) C353402 06 03 EA 10
41E87BA 5210-00-277-8840
INDICATOR, DIAL 1" E004352 06 04 EA 1
E004352 5210-00-243-6949
MAGNIFICATION GLASS 06 05 EA 1
GAGE, DEPTH, MICROMETER, 0-3" (5pc + cont) F279438 06 06 EA 6
F279438 5210-01-335-8759
MICROMETER, INSIDE 2 - 12" (7pc + cont) C353407 06 07 EA 7
C353407 5210-00-221--1921
MICROMETER, OUTSIDE 0-1" (2pc + cont) F279436 06 08 SET 3
F279436 5210-00-540-2973
MICROMETER, OUTSIDE 1-2" (3pc + cont) F279437 06 09 EA 4
F279437 5210-00-243-2933
MICROMETER, OUTSIDE 2-6" (10pc + cont) F279439 06 10 SET 11
F279439 5210-00-223-9158
V-HOLDER, INDICATOR 06 11 EA 1
Sub Total: a7

Page 9 of 16

1-2168



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
PLIERS, CHANNEL LOCK 9" 0701 EA 2
5120-01-335-1561
PLIERS, DUCK BILLED 8" 07 02 EA 1
5120-00-595-9519
PLIERS, NEEDLE NOSE 6" 07 03 EA 1
5120-00-293-3481
PLIERS, NEEDLE NOSE 8" 07 04 EA 1
5120-01-367-4644
PLIERS, SIDE CUTTING 6" 07 05 EA 1
5120-00-184-9403
PLIERS, SLIP JOINT 5-1/2" 07 06 EA 1
5120-00-223-7396
PLIERS, SLIP JOINT 8" 07 07 EA 1
5120-01-367-3855
SCISSORS 07 08 EA 1
5110-01-241-4371
SHEERS, METAL CUTTING 12" 07 09 EA 1
5110-01-335-1603
WRENCH, ADJUSTABLE 12" 07 10 EA 1
5120-00-264-3796
WRENCH, ADJUSTABLE 8" 07 12 EA 1
5120-00-264-5328
WRENCH, ADJUSTABLE 8" 07 12 EA 1
5120-00-264-5328
WRENCH, MONKEY 07 13 EA 1
5120-00-240-5336
WRENCH, PIPE 14" 07 14 EA 1
5120-00-277-1486
WRENCH, PIPE 07 15 EA 1

5120-00-277-1484
Sub Total: 16

Page 10 of 16

1-2169



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

1Y \
Record Count: 269
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
VISE GRIP 10" 08 01 EA 2
5120-00-494-1911
VISE GRIP 5" 08 02 EA 2
5120-00-965-0406
VISE GRIP 7" 08 03 EA 2
5120-00-494-1910
VISE GRIP, C-CLAMP 11" 08 04 EA 4
5120-00-731-2862
VISE GRIP, C-CLAMP 6" 08 05 EA 1
5120-01-336-7976
VISE GRIP, C-CLAMP w/pads 6" 08 06 EA 1
5120-01-336-7978
VISE GRIP, CHAIN LINK 08 07 EA 1
5120-00-889-2050
VISE GRIP, LONG NOSE 6" 08 08 EA 2
5120-01-336-7773
Sub Total: 15

Page 11 of 16

1-2170



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
WRENCH, BOX END 1/4 - 5/16" 0901 EA 1
5120-01-335-1223
WRENCH, BOX END 3/8 - 7/16" 09 02 EA 1
5120-01-335-1185
WRENCH, BOX END 1/2 - 9/16" 0903 EA 1
5120-01-335-1187
WRENCH, BOX END 5/8 - 11/16" 09 04 EA 1
5120-01-335-1189
WRENCH, BOX END 3/4 - 13/16" 09 05 EA 1
5120-01-335-1192
WRENCH, BOX END 7/8 - 15/16" 09 06 EA 1
5120-01-335-1215
WRENCH, BOXEND 1-11/16" 09 07 EA 1
5120-01-335-1217
WRENCH, BOX END 11/8 - 1 3/16" 09 08 EA 1
5120-01-335-1219
WRENCH, BOX END 1 1/4 - 1 5/16" 09 09 EA 1
5120-01-335-1220
WRENCH, COMBINATION 1/4" 09 10 EA 1
5120-01-335-1278
WRENCH, COMBINATION 9/32" 09 11 EA 1
5120-01-335-1279
WRENCH, COMBINATION 5/16" 09 12 EA 1
5120-01-335-1230
WRENCH, COMBINATION 11/32" 09 13 EA 1
5120-01-335-1231
WRENCH, COMBINATION 3/8" 09 14 EA 1
5120-01-335-1232
WRENCH, COMBINATION 7/16" 09 15 EA 1
5120-01-335-1233
WRENCH, COMBINATION 1/2" 09 16 EA 1
5120-01-335-1234
WRENCH, COMBINATION 9/16" 09 17 EA 1
5120-01-335-1235
WRENCH, COMBINATION 5/8" 09 18 EA 1
5120-01-335-1236
WRENCH, COMBINATION 11/16" 0919 EA 1
5120-01-335-1237
WRENCH, COMBINATION 3/4" 09 20 EA 1
5120-01-335-1258
WRENCH, COMBINATION 13/16" 0921 EA 1
5120-01-335-1259
WRENCH, COMBINATION 7/8" 09 22 EA 1
5120-01-335-1260
WRENCH, COMBINATION 15/16" 09 23 EA 1
5120-01-335-1261
WRENCH, COMBINATION 1" 09 24 EA 1

5120-01-335-1262

Page 12 of 16

1-2171



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

Sub Total: 24

HAMMER, BALL PEEN 160z 1001 EA 1
5120-01-335-2050

HAMMER, BRONZE FACE INSERTED 1" 10 02 EA 1
5120-01-335-1467

HAMMER, DEAD BLOW 10 03 EA 1
5120-01-335-1476

HAMMER, SLEDGE 2.5Ib 10 04 EA 1
5120-00-900-6118

HAMMER, SOFT FACE INSERTED 1 10 05 EA 1
5120-01-367-3699

HAMMER, SOFT FACE INSERTED 1-1/2" 10 06 EA 1
5120-00-903-8547

HAMMER, TINNERS 4lb. 10 07 EA 1
5120-00-902-0093

HAMMER, TINNERS 120z. 10 08 EA 1
5120-00-236-3722

HAMMER, WELDERS 10 09 EA 1
5120-00-585-2383

Sub Total: 9

C-CLAMP 2" 1101 EA 5
5120-01-335-1531

C-CLAMP 3" 1102 EA 3
5120-01-335-1532

C-CLAMP 4" 1103 EA 2
5120-00-180-0908

VISE GRIP, SHEET METAL 11 04 EA 2
5120-00-494-1889

Sub Total: 12

Page 13 of 16

1-2172



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
BAR, PRY & SCRAPE 1201 EA 1
5120-00-965-0879
BAR, WRECKING 12 02 EA 1
5120-00-224-1393
COLLET, ANGLE SANDER 12 03 EA 1
DRILL SET, TWIST (1/16" - 1/2") 29pc + cont 12 04 SET 1
5133-00-293-0983
1/16 DRILL 12 04-01 EA 1
5/64 DRILL 12 04-02 EA 1
3/32 DRILL 12 04-03 EA 1
7/64 DRILL 12 04-04 EA 1
1/8 DRILL 12 04-05 EA 1
9/64 DRILL 12 04-06 EA 1
5/32 DRILL 12 04-07 EA 1
11/64 DRILL 12 04-08 EA 1
3/16 DRILL 12 04-09 EA 1
13/64 DRILL 12 04-10 EA 1
7/32 DRILL 12 04-11 EA 1
15/64 DRILL 12 04-12 EA 1
1/4 DRILL 12 04-13 EA 1
17/64 DRILL 12 04-14 EA 1
9/32 DRILL 12 04-15 EA 1
19/64 DRILL 12 04-16 EA 1
5/16 DRILL 12 04-17 EA 1
21/64 DRILL 12 04-18 EA 1
11/32 DRILL 12 04-19 EA 1
23/64 DRILL 12 04-20 EA 1

Page 14 of 16

1-2173



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 269

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

3/8 DRILL 12 04-21 EA 1

25/64 DRILL 12 04-22 EA 1

13/32 DRILL 12 04-23 EA 1

27/64 DRILL 12 04-24 EA 1

7/16 DRILL 12 04-25 EA 1

29/64 DRILL 12 04-26 EA 1

15/32 DRILL 12 04-27 EA 1

31/64 DRILL 12 04-28 EA 1

1/2 DRILL 12 04-29 EA 1

DRILL SET, TWIST (9/16" - 1") 8pc + cont 12 05 SET 9
5133-01-196-4553

GRINDER, DIE 30,000 RPM 12 06 EA 1
5130-01-335-4754

SANDER, ANGLE PNEUMATIC 12,000 RPM 12 07 EA 1
5130-01-900-9514

TAP & DIE SET (42pc + cont) 12 08 SET 43

TAP HANDLE, RATCHETING  1/16 - 1/4" 12 09 EA 1
5120-00-517-5347

BACK SPOTFACER, 11/16" DIA. 1210 EA 1

64944 1211 EA 1

Sub Total: 90

Page 15 of 16

1-2174



2007/04/19 10:32:36AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

1Y !
Record Count: 269
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF32A WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
CHISEL, PNEUMATIC #31 1301 EA 1
CHISEL, PNEUMATIC #6 1302 EA 1
GRINDER, PNEUMATIC 15,000 RPM 1303 EA 1
5130-00-242-0580
HAMMER, PNEUMATIC 1304 EA 1
5130-00-889-8984
PULLER JAWS 1305 EA 3
PULLER YOKE, 2 JAW 1306 EA 1
PULLER, ATTACHMENT, VISE GRIP 13 07 EA 1
PULLER, MECH. EXTERNAL wislide hammer 1308 EA 1
5120-00-205-8501
PULLER, MECH. INTERNAL w/slide hammer 1309 EA 1
5120-00-558-0240
PULLER, MECHANICAL, 2-JAW 4" 1310 EA 1
5120-00-293-2925
PUNCH & DIE SET, KNOCKOUT (10pc + cont) 1311 SET 11
5110-00-555-8497
Sub Total: 23
CTK Component Total: 472

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

Page 16 of 16

by:

by:

1-2175



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert
KEY, TOOL BOX EA 1
INVENTORY LIST EA 1
Sub Total: 2

Page 1 of 17

1-2176



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
CALIPER, HERMAPHRODITE 6" 0101 EA 1
5210-00-229-3026
CALIPER, INSIDE 3" 0102 EA 1
5210-00-229-3076
CALIPER, INSIDE 6" 0103 EA 1
5210-00-229-3051
CALIPER, OUTSIDE 4" 0104 EA 1
5210-00-229-3047
CALIPER, OUTSIDE 6" 0105 EA 1
5210-00-229-3048
COMB. SQ, CENTER HEAD 0106 EA 1
5210-01-335-9133
COMB. SQ, MITER HEAD 0107 EA 1
5210-01-335-9134
COMB. SQ, PROTRACTOR HEAD 0108 EA 1
5210-01-335-9142
DIVIDERS 3" 0109 EA 1
5210-00-266-7042
DIVIDERS 6" 0110 EA 1
5210-00-263-0378
GAGE, CENTER, 60 deg 0111 EA 1
5210-00-222-4000
GAGE, DEPTH, RULE 6" 0112 EA 1
5210-00-221-1902
PUNCH, CENTER #2 0113 EA 1
5120-00-239-3510
PUNCH, CENTER #5 0114 EA 1
5120-00-239-3509
PUNCH, CENTER #7 0115 EA 1
5120-00-237-4956
PUNCH, CENTER, SPRING LOADED 0116 EA 1
5120-01-335-1465
RULE, HOOK 6" 0117 EA 1
5120-00-239-0490
RULE, MACHINIST 6" 0118 EA 1
5210-00-234-5223
RULE, STEEL 24" 0119 EA 1
5210-00-078-8950
RULE, STEEL MACHINIST 12" 0120 EA 1
5210-00-234-5224
SCRIBER 0121 EA 1
5120-00-224-9728
SQUARE, DIE MAKERS 0122 EA 1
5210-00-257-0876
SQUARE, MACHINIST 3" 0123 EA 1

5210-00-277-7440
Sub Total: 23

Page 2 of 17

1-2177



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
ACCESSORY, TEST INDICATOR BASE 0201 EA 4
ATTACHMENT, DEPTH, DIAL CALIPER 02 02 EA 1
CALIPER, DIAL 6" (+ cont) F268095 02 03 EA 1
F268095 5210-01-010-4522
EXTRACTOR, COTTER PIN 02 04 EA 1
5120-00-222-4284
EXTRACTOR, SCREW #1 02 05 EA 1
5120-00-240-5223
EXTRACTOR, SCREW #2 02 06 EA 1
5120-00-580-2359
EXTRACTOR, SCREW #3 02 07 EA 1
5120-00-240-5221
EXTRACTOR, SCREW #4 02 08 EA 1
5120-00-240-5222
EXTRACTOR, SCREW #5 02 09 EA 1
5120-00-243-2933
EXTRACTOR, SCREW #6 02 10 EA 1
5120-00-240-5220
FILE, THREAD (COARSE) 0211 EA 1
5110-00-373-1691
FILE, THREAD (FINE) 0212 EA 1
5110-00-516-3812
GAGE BLOCK, MICROMETER 1" 02 13 EA 1
5220-NS-L-
GAGE, TELESCOPING 5/16 - 1/2 02 14 EA 1
5210-00-221-2084
GAGE, TELESCOPING 1/2 - 3/4 02 15 EA 1
5210-00-221-2085
GAGE, TELESCOPING 3/4-11/4 02 16 EA 1
5210-00-221-2086
GAGE, TELESCOPING 11/4-21/8 02 17 EA 1
5210-00-221-2087
GAGE, TELESCOPING 21/8-31/2 0218 EA 1
5210-00-221-2076
GAGE, TELESCOPING 31/2-6 0219 EA 1
5210-00-221-2077
GAGE, THICKNESS 02 20 EA 1
5120-00-223-9191
GAGE, SCREW PITCH 0221 EA 1
5210-01-335-1618
INDICATOR, TEST 02 22 EA 1
5210-00-223-9648
MAGNETIC BASE, INDICATOR 02 23 EA 1
5120-00-390-5446
MICROMETER, OUTSIDE 0-1" A660434 02 24 EA 1
A660434 5210-00-540-2973
Page 3 of 17

1-2178



2007/04/19 10:33:50AM
Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert

MICROMETER, OUTSIDE 1-2" J218280 02 25 EA 1
J218280 5210-00-243-2933

MIRROR, INSPECTION, OVAL 02 26 EA 1
5120-00-596-1098

TAP HANDLE, RATCHETING 1/16 - 1/4" 02 27 EA 1
5120-00-517-5347

TAPE, STEEL 25 02 28 EA 1
5210-01-139-7444

TAPE, STEEL 10' 0229 EA 1
5210-00-293-3505

DEBURRING TOOL 02 30 EA 1

5120-00-NSL-

WRENCH, MICROMETER 0231 EA 1

Sub Total: 34
Page 4 of 17

1-2179



2007/04/19 10:33:50AM
Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
PLIERS, CHANNEL LOCK 9" 0301 EA 1
5120-01-335-1561
PLIERS, DIAGONAL CUTTING 7 1/2" 03 02 EA 1
5110-00-222-2708
PLIERS, NEEDLE NOSE 6" 0303 EA 1
5120-00-293-3481
PLIERS, SLIP JOINT 5-1/2" 03 04 EA 1
5120-00-223-7396
SCREWDRIVER, FLAT TIP 5/16"x6" 03 05 EA 1
5120-00-234-8910
SCREWDRIVER, FLAT TIP 7/32"x 1 1/2" 0307 EA 1
5120-00-222-8866
SCREWDRIVER, FLAT TIP 7/32"x 3" 0308 EA 1
5120-00-293-3311
SCREWDRIVER, FLAT TIP 9/64"x 5" 0308 EA 1
5120-00-287-2505
SCREWDRIVER, PHILLIPS #1 X 3" 03 09 EA 1
5120-00-240-8716
SCREWDRIVER, PHILLIPS #2 X 1-1/2" 03 10 EA 1
5120-00-227-7293
SCREWDRIVER, PHILLIPS #3 X 6" 0311 EA 1
5120-00-234-8912
SCREWDRIVER, RATCHETING 8-3/4" w/apex bit 0312 EA 1
5120-01-335-1485
BIT, APEX, PHILLIPS #2 -1/4" X 1 in screwdriver 03 12-01 EA 1
5120-00-595-8197
SCREWDRIVER, RATCHETING OFFSET 03 13 EA 1
5120-01-432-5179
VISE GRIP 10" 03 14 EA 1
5120-00-494-1911
VISE GRIP 5" 03 15 EA 1
5120-00-965-0406
VISE GRIP 7" 03 16 EA 1
5120-00-494-1910
WRENCH, ADJUSTABLE 10" 0317 EA 1
5120-00-449-8083
WRENCH, ADJUSTABLE 4" 0318 EA 1
5120-00-240-5330
WRENCH, ADJUSTABLE 8" 0319 EA 1
5120-00-264-5328
WRENCH, MONKEY 03 20 EA 1

5120-00-240-5336
Sub Total: 21

Page 5 of 17

1-2180



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
SOCKET EXTENSION 4" (1/4" DRIVE) 0401 EA 1
5120-01-335-1071
SOCKET EXTENSION 6" (1/4" DRIVE) 04 02 EA 1
5120-00-243-7325
HANDLE, SLIDING TEE 1/4" DR. 04 03 EA 1
5120-00-221-7966
HANDLE, SOCKET (1/4" DRIVE) 04 04 EA 1
5120-00-242-3256
RATCHET (1/4" DRIVE) 04 05 EA 1
5120-00-221-7957
SOCKET, 3/16" (1/4" DRIVE) 04 06 EA 1
5120-00-236-2262
SOCKET, 7/32" (1/4" DRIVE) 04 07 EA 1
5120-00-236-2263
SOCKET, 1/4" (1/4" DRIVE) 04 08 EA 1
5120-00-236-2264
SOCKET, 5/16" (1/4" DRIVE) 04 09 EA 1
5120-00-235-5878
SOCKET, 11/32" (1/4" DRIVE) 04 10 EA 1
5120-00-242-3351
SOCKET, 3/8" (1/4" DRIVE) 04 11 EA 1
5120-00-242-3352
SOCKET, 7/16" (1/4" DRIVE) 04 12 EA 1
5120-00-235-5869
SOCKET, 1/2" (1/4" DRIVE) 04 13 EA 1
5120-00-189-8610
SOCKET, 9/32" (1/4" DRIVE) 04 14 EA 1
5120-00-242-3345
SOCKET, DEEP 3/16" (1/4" DRIVE) 04 15 EA 1
5120-00-935-7492
SOCKET, DEEP 7/32" (1/4" DRIVE) 04 16 EA 1
5120-00-935-7493
SOCKET, DEEP 1/4" (1/4" DRIVE) 04 17 EA 1
5120-00-817-1187
SOCKET, DEEP 9/32" (1/4" DRIVE) 04 18 EA 1
5120-00-935-7495
SOCKET, DEEP 5/16" (1/4" DRIVE) 04 19 EA 1
5120-00-104-1735
SOCKET, DEEP 11/32" (1/4" DRIVE) 04 20 EA 1
5120-00-888-6120
SOCKET, DEEP 3/8" (1/4" DRIVE) 04 21 EA 1
5120-00-935-7498
SOCKET, DEEP 7/16" (1/4" DRIVE) 04 22 EA 1
5120-00-775-6980
SOCKET, DEEP 1/2" (1/4" DRIVE) 04 23 EA 1
5120-00-263-9791
UNIVERSAL JOINT (1/4" DRIVE) 04 24 EA 1

5120-00-243-1686

Page 6 of 17

1-2181



13 £
Record Count: 313

\

2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

CTK ID Location CTK Nomenclature CTK UOI
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA
Nomenclature Serial Number Location uol

PMEL/TMDE ID NSN Local Man Nuclear Cert

ADAPTER, SOCKET 1/4"-3/8" DR 04 25 EA
5120-00-227-8096

ADAPTER, SOCKET 3/8"-1/4" DR 04 26 EA
5120-00-224-9291

BREAKER BAR, (3/8" DRIVE) 04 27 EA
5120-01-335-0742

SOCKET EXTENSION 11" (3/8" DRIVE) 04 28 EA
5120-01-335-1061

SOCKET EXTENSION 3" (3/8" DRIVE) 04 29 EA
5120-01-335-1057

SOCKET EXTENSION 6" (3/8" DRIVE) 04 30 EA
5120-01-335-1059

HANDLE, SLIDING TEE 3/8"DR. 04 31 EA
5120-00-241-3143

HANDLE, SOCKET (3/8" DRIVE) 04 32 EA
5120-00-288-6514

HOLDER, APEX 1/4" (1/4" DRIVE) bit installed 04 33 EA
5120-00-528-2891

BIT, APEX, PHILLIPS #1 -1/4" X 1 in holder 04 33-01 EA
5120-00-223-6971

HOLDER, APEX 1/4" (1/4" DRIVE) bit installed 04 34 EA
5120-00-528-2891

BIT, APEX, PHILLIPS #2 - 1/4" X 1 in holder 04 34-01 EA
5120-00-595-8197

HOLDER, APEX 1/4" (1/4" DRIVE) bit installed 04 35 EA
5120-00-528-2891

BIT, APEX, PHILLIPS #3-1/4"X 1 in holder 04 35-01 EA
5120-00-250-5576

HOLDER, APEX 5/16" (3/8" DRIVE) bit installed 04 36 EA
5120-00-331-5502

BIT, APEX, PHILLIPS #2 - 5/16" X 1.25 in holder 04 36-01 EA
5130-00-240-5249

HOLDER, APEX 5/16" (3/8" DRIVE) bit installed 04 37 EA
5120-00-331-5502

BIT, APEX, PHILLIPS #3 - 5/16" X 1.25 in holder 04 37-01 EA
5130-00-240-5250

HOLDER, APEX 5/16" (3/8" DRIVE) bit installed 04 38 EA
5120-00-331-5502

BIT, APEX, PHILLIPS #4 - 5/16" X 1.25 in holder 04 38-01 EA
5120-00-595-8198

HOLDER, APEX 1/4" (3/8" DRIVE) bit installed 04 39 EA
5120-00-528-2892

BIT, APEX, TORQ #10-1/4"X 1 in holder 04 39-01 EA
5120-00-888-5831

RATCHET (3/8" DRIVE) 04 40 EA
5120-01-335-0720

SOCKET, 3/8" (3/8" DRIVE) 04 42 EA

5120-01-350-1005

Page 7 of 17

1-2182



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
SOCKET, 7/16" (3/8" DRIVE) 04 43 EA 1
5120-01-350-1006
SOCKET, 1/2" (3/8" DRIVE) 04 44 EA 1
5120-01-350-1007
SOCKET, 9/16" (3/8" DRIVE) 04 45 EA 1
5120-01-350-0989
SOCKET, 9/16" (3/8" DRIVE) 04 45 EA 1
5120-01-350-0989
SOCKET, 5/8" (3/8" DRIVE) 04 46 EA 1
5120-01-350-0990
SOCKET, 11/16" (3/8" DRIVE) 04 47 EA 1
5120-01-350-0991
SOCKET, 3/4" (3/8" DRIVE) 04 48 EA 1
5120-01-350-0992
SOCKET, 13/16" (3/8" DRIVE) 04 49 EA 1
5120-01-350-0993
SOCKET, DEEP 13/16" (3/8" DRIVE) 04 49 EA 1
5120-01-335-0912
SOCKET, 7/8" (3/8" DRIVE) 04 50 EA 1
SOCKET, DEEP 3/8" (3/8" DRIVE) 04 51 EA 1
5120-01-335-0904
SOCKET, DEEP 7/16" (3/8" DRIVE) 04 52 EA 1
5120-01-335-0905
SOCKET, DEEP 1/2" (3/8" DRIVE) 04 53 EA 1
5120-01-335-0906
SOCKET, DEEP 5/8" (3/8" DRIVE) 04 54 EA 1
5120-01-335-0909
SOCKET, DEEP 11/16" (3/8" DRIVE) 04 55 EA 1
SOCKET, DEEP 3/4" (3/8" DRIVE) 04 56 EA 1
5120-01-335-0911
SOCKET, DEEP 7/8" (3/8" DRIVE) 04 58 EA 1
5120-01-335-0857
SPEED HANDLE (3/8" DRIVE) 04 59 EA 1
5120-01-335-1865
UNIVERSAL JOINT (3/8" DRIVE) 04 60 EA 1

5120-01-335-1045
Sub Total: 67

Page 8 of 17

1-2183



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
DRILL, PNUEMATIC 1/4" 0501 EA 1
5130-00-294-9511
FLASHLIGHT, MINIMAG 05 02 EA 1
6230-01-259-4495
HAMMER, BALL PEEN 160z 05 03 EA 1
5120-01-335-2050
HAMMER, BALL PEEN 8oz 05 04 EA 1
5120-00-061-8541
HAMMER, COPPER 3lb. 05 05 EA 1
5120-00-902-0089
HAMMER, SOFT FACE INSERTED 1-1/2" 05 06 EA 1
5120-00-903-8547
LANTERN, HEAD 05 07 EA 1
3630-00-163-1856
NOZZLE, AIR 05 08 EA 1
4940-00-861-5570
OIL, AIR TOOL LUBRICANT 05 09 BT 1
WRENCH, IMPACT 3/8" 05 10 EA 1

5130-01-335-1528
Sub Total: 10

Page 9 of 17

1-2184



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT SET 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
DRILL SET, TWIST (#1-60) 60pc + cont 06 01 SET 1
5133-00-449-6775
6-32 HELI-COIL TAP 06 01-01 EA 1
5136-00-045-0596
#02 DRILL HSS 06 01-02 EA 1
5133-00-189-9247
#03 DRILL HSS 06 01-03 EA 1
5133-00-189-9248
#04 DRILL HSS 06 01-04 EA 1
5133-00-189-9249
#05 DRILL HSS 06 01-05 EA 1
5133-00-189-9250
#06 DRILL HSS 06 01-06 EA 1
5133-00-189-9251
#07 DRILL HSS 06 01-07 EA 1
5133-00-189-9252
#08 DRILL HSS 06 01-08 EA 1
5133-00-189-9253
#09 DRILL HSS 06 01-09 EA 1
5133-00-189-9254
#10 DRILL HSS 06 01-10 EA 1
5133-00-189-9255
#11 DRILL HSS 06 01-11 EA 1
5133-00-189-9256
#12 DRILL HSS 06 01-12 EA 1
5133-00-189-9257
#13 DRILL HSS 06 01-13 EA 1
5133-00-189-9258
#14 DRILL HSS 06 01-14 EA 1
5133-00-189-9259
#15 DRILL HSS 06 01-15 EA 1
5133-00-189-9260
#16 DRILL HSS 06 01-16 EA 1
5133-00-189-9261
#17 DRILL HSS 06 01-17 EA 1
5133-00-189-9262
#18 DRILL HSS 06 01-18 EA 1
5133-00-189-9263
#19 DRILL HSS 06 01-19 EA 1
5133-00-189-9264
#20 DRILL HSS 06 01-20 EA 1
5133-00-189-9265
#21 DRILL HSS 06 01-21 EA 1
5133-00-189-9266
#22 DRILL HSS 06 01-22 EA 1
5133-00-189-9267
#23 DRILL HSS 06 01-23 EA 1

5133-00-189-9268

Page 10 of 17

1-2185



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#24 DRILL HSS 06 01-24 EA 1
5133-00-189-9269
#25 DRILL HSS 06 01-25 EA 1
5133-00-189-9270
#26 DRILL HSS 06 01-26 EA 1
5133-00-189-9271
#27 DRILL HSS 06 01-27 EA 1
5133-00-189-9272
#28 DRILL HSS 06 01-28 EA 1
5133-00-189-9273
#29 DRILL HSS 06 01-29 EA 1
5133-00-189-9274
#30 DRILL HSS 06 01-30 EA 1
5133-00-189-9275
#31 DRILL HSS 06 01-31 EA 1
5133-00-189-9276
#32 DRILL HSS 06 01-32 EA 1
5133-00-189-9277
#33 DRILL HSS 06 01-33 EA 1
5133-00-189-9278
#34 DRILL HSS 06 01-34 EA 1
5133-00-189-9279
#35 DRILL HSS 06 01-35 EA 1
5133-00-189-9280
#36 DRILL HSS 06 01-36 EA 1
5133-00-189-9281
#37 DRILL HSS 06 01-37 EA 1
5133-00-189-9282
#38 DRILL HSS 06 01-38 EA 1
5133-00-189-9283
#39 DRILL HSS 06 01-39 EA 1
5133-00-189-9284
#40 DRILL HSS 06 01-40 EA 1
5133-00-189-9285
#41 DRILL HSS 06 01-41 EA 1
5133-00-189-9286
#42 DRILL HSS 06 01-42 EA 1
5133-00-189-9287
#43 DRILL HSS 06 01-43 EA 1
5133-00-189-9288
#44 DRILL HSS 06 01-44 EA 1
5133-00-189-9289
#45 DRILL HSS 06 01-45 EA 1
5133-00-189-9290
#46 DRILL HSS 06 01-46 EA 1
5133-00-189-9291
#47 DRILL HSS 06 01-47 EA 1

5133-00-189-9292

Page 11 of 17

1-2186



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#48 DRILL HSS 06 01-48 EA 1
5133-00-189-9293
#49 DRILL HSS 06 01-49 EA 1
5133-00-189-9294
#50 DRILL HSS 06 01-50 EA 1
5133-00-189-9295
#51 DRILL HSS 06 01-51 EA 1
5133-00-189-9296
#52 DRILL HSS 06 01-52 EA 1
5133-00-189-9297
#53 DRILL HSS 06 01-53 EA 1
5133-00-189-9298
#54 DRILL HSS 06 01-54 EA 1
5133-00-189-9299
#55 DRILL HSS 06 01-55 EA 1
5133-00-189-9300
#56 DRILL HSS 06 01-56 EA 1
5133-00-189-9301
#57 DRILL HSS 06 01-57 EA 1
5133-00-189-9302
#58 DRILL HSS 06 01-58 EA 1
5133-00-189-9303
#59 DRILL HSS 06 01-59 EA 1
5133-00-189-9034
#60 DRILL HSS 06 01-60 EA 1
5133-00-189-9305
DRILL SET, TWIST (1/16" - 1/2") 29pc + cont 06 02 SET 1
5133-00-293-0983
1/16 DRILL 06 02-01 EA 1
5/64 DRILL 06 02-02 EA 1
3/32 DRILL 06 02-03 EA 1
7/64 DRILL 06 02-04 EA 1
1/8 DRILL 06 02-05 EA 1
9/64 DRILL 06 02-06 EA 1
5/32 DRILL 06 02-07 EA 1
11/64 DRILL 06 02-08 EA 1
3/16 DRILL 06 02-09 EA 1
13/64 DRILL 06 02-10 EA 1

Page 12 of 17

1-2187



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
7132 DRILL 06 02-11 EA 1
15/64 DRILL 06 02-12 EA 1
1/4 DRILL 06 02-13 EA 1
17/64 DRILL 06 02-14 EA 1
9/32 DRILL 06 02-15 EA 1
19/64 DRILL 06 02-16 EA 1
5/16 DRILL 06 02-17 EA 1
21/64 DRILL 06 02-18 EA 1
11/32 DRILL 06 02-19 EA 1
23/64 DRILL 06 02-20 EA 1
3/8 DRILL 06 02-21 EA 1
25/64 DRILL 06 02-22 EA 1
13/32 DRILL 06 02-23 EA 1
27/64 DRILL 06 02-24 EA 1
7/16 DRILL 06 02-25 EA 1
29/64 DRILL 06 02-26 EA 1
15/32 DRILL 06 02-27 EA 1
31/64 DRILL 06 02-28 EA 1
1/2 DRILL 06 02-29 EA 1
BRUSH, CARD FILE 06 03 EA 1
7920-00-224-7987
FILE SET, SWISS (12pc + cont) 06 04 SET 1
5110-01-335-1600
FILE, SWISS, BARRETTE 06 04-01 EA 1
5110-00-242-0127
FILE, SWISS, EQUALING 06 04-02 EA 1
5110-00-156-0062
FILE, SWISS, FLAT 06 04-03 EA 1

5110-00-156-0063

Page 13 of 17

1-2188



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
FILE, SWISS, MARKING 06 04-04 EA 1
5110-00-245-4165
FILE, SWISS, JOINT 06 04-05 EA 1
5110-00-239-3281
FILE, SWISS, KNIFE 06 04-06 EA 1
5110-00-156-0065
FILE, SWISS, HALF ROUND 06 04-07 EA 1
5110-00-239-3269
FILE, SWISS, ROUND 06 04-08 EA 1
5110-00-245-4177
FILE, SWISS, SLITTING 06 04-09 EA 1
5110-00-239-7614
FILE, SWISS, SQUARE 06 04-10 EA 1
5110-00-239-7602
FILE, SWISS, THREE SQUARE 06 04-11 EA 1
5110-00-239-7590
FILE, SWISS, CROSSING NEEDLE 06 04-12 EA 1
5110-00-242-0146
FILE, FLAT, BASTARD 8" 06 05 EA 1
5110-00-249-2848
FILE, FLAT, SECOND CUT 10" 06 06 EA 1
5110-00-234-6537
FILE, ROUND 6" 06 07 EA 1
5110-00-234-6550
FILE, ROUND, SECOND CUT 10" 06 08 EA 1
5110-00-234-6555
FILE, SMOOTH CUT 8" 06 09 EA 1
5110-00-203-4935
FILE, SQUARE 6" 06 10 EA 1
5110-00-203-4751
FILE, SQUARE, SECOND CUT 10" 06 11 EA 1
5110-00-203-9804
FILE, TRIANGULAR 6" 06 12 EA 1
5110-01-336-5672
HACKSAW w/blade 06 13 EA 2
5110-01-335-1366
HANDLE, FILE, TWIST ON PT4 06 14 EA 1
5110-01-395-5763
HANDLE, FILE, TWIST ON PT6 06 15 EA 1
5110-01-395-5764
HANDLE, FILE, TWIST ON PT7 06 16 EA 1
5110-01-395-5663
RETRIEVER, MAGNETIC 06 17 EA 1
5120-00-545-4268
VISE, PIN 06 18 EA 1

5120-01-335-1372
Sub Total: 120

Page 14 of 17

1-2189



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
CHISEL, CAPE 1/8" 0701 EA 1
5110-00-223-1087
CHISEL, CAPE 1/4" 07 02 EA 1
5110-00-197-9499
CHISEL, COLD 1/4" 07 03 EA 1
5110-00-234-1972
CHISEL, CAPE 3/8" 07 04 EA 1
5110-00-222-2128
CHISEL, COLD 1/2" 07 05 EA 1
5110-00-186-7107
CHISEL, COLD 3/4" 07 06 EA 1
5110-00-236-3272
CHISEL, COLD 1" 07 07 EA 1
5110-00-234-1944
KNIFE, PUTTY 07 08 EA 1
5120-00-221-1536
PUNCH, PIN DRIVE 1/16" 07 09 EA 1
5120-00-240-6082
PUNCH, PIN DRIVE 3/32" 07 10 EA 1
5120-00-242-3435
PUNCH, PIN DRIVE 1/8" 07 11 EA 1
5120-00-242-5966
PUNCH, PIN DRIVE 5/32" 07 12 EA 1
5120-00-240-6104
PUNCH, PIN DRIVE 3/16" 07 13 EA 1
5120-00-293-0791
PUNCH, PIN DRIVE 7/32" 07 14 EA 1
5120-00-293-0792
PUNCH, PIN DRIVE 1/4" 07 15 EA 1
5120-00-240-6083
PUNCH, PIN DRIVE 5/16" 07 16 EA 1
5120-00-293-0793
PUNCH, PIN DRIVE 3/8" 07 17 EA 1
5120-00-273-0001
DIE, THREAD CUTTING, RH 3-56 NF 13/16" 07 18 SET 1
5120-00-203-7064
1/16 ALLEN WRENCH 07 18-01 EA 1
5/64 ALLEN WRENCH 07 18-02 EA 1
3/32 ALLEN WRENCH 07 18-03 EA 1
1/8 ALLEN WRENCH 07 18-04 EA 1
5/32 ALLEN WRENCH 07 18-05 EA 1
3/16 ALLEN WRENCH 07 18-06 EA 1

Page 15 of 17

1-2190



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313

CTK ID Location CTK Nomenclature CTK UOI Qty

R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1

Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert

7/32 ALLEN WRENCH 07 18-07 EA 1

1/4 ALLEN WRENCH 07 18-08 EA 1

5/16 ALLEN WRENCH 07 18-09 EA 1

3/8 ALLEN WRENCH 07 18-10 EA 1

WRENCH, COMBINATION 5/16" 07 19 EA 1
5120-01-335-1230

WRENCH, COMBINATION 3/8" 07 20 EA 1
5120-01-335-1232

WRENCH, COMBINATION 7/16" 0721 EA 1
5120-01-335-1233

WRENCH, COMBINATION 1/2" 0722 EA 1
5120-01-335-1234

WRENCH, COMBINATION 9/16" 0723 EA 1
5120-01-335-1235

WRENCH, COMBINATION 5/8" 0724 EA 1
5120-01-335-1236

WRENCH, COMBINATION 11/16" 07 25 EA 1
5120-01-335-1237

WRENCH, COMBINATION 3/4" 07 26 EA 1
5120-01-335-1258

WRENCH, COMBINATION 13/16" 07 27 EA 1
5120-01-335-1259

WRENCH, COMBINATION 7/8" 07 28 EA 1
5120-01-335-1260

WRENCH, COMBINATION 15/16" 07 29 EA 1
5120-01-335-1261

WRENCH, COMBINATION 1" 07 30 EA 1

5120-01-335-1262
Sub Total: 40

Page 16 of 17

1-2191



2007/04/19 10:33:50AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 313
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF330 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 317

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 17 of 17

1-2192



2007/04/19 10:34:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 150

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33A MACHINE SHOP LISTA CABINE LINE KIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert

KEY, TOOL BOX EA 1

FOD BAG EA 1
5140-00-LOC-ALMFG

INVENTORY LIST EA 1

LOCK, BOX EA 1

Sub Total: 4

DRILL, PNUEMATIC 1/4" BTM 01 EA 1
5130-00-294-9511

LANTERN, HEAD BTM 02 EA 1
3630-00-163-1856

SCREW CHISEL BTM 03 EA 1
5120-NS-L-

SPEED HANDLE, RATCHET (3/8" DRIVE) BTM 04 EA 1
WRENCH, IMPACT 3/8" BTM 05 EA 1
5130-01-335-1528

Sub Total: 5

Page 1 of 9

1-2193



2007/04/19 10:34:18AM
Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 150

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
HOLDER, APEX 1/4" (3/8" DRIVE) WITH BIT P101 EA 1
5120-00-528-2892
BIT, APEX, PHILLIPS #2 - 1/4" X 1 IN HOLDER P101-01 EA 1
5120-00-595-8197
BIT, APEX, PHILLIPS #1-1/4"X 1 P102 EA 3
5120-00-223-6971
BIT, APEX, PHILLIPS #2 - 1/4" X 1 P103 EA 3
5120-00-595-8197
BIT, APEX, PHILLIPS #3-1/4"X 1 P1 04 EA 2
5120-00-250-5576
BIT, APEX, TORQ #10- 1/4" X 1 P1 05 EA 1
5120-00-888-5831
BIT, APEX, TORQ 1/4 - 1/4" X 1 P1 06 EA 1
5120-00-226-5606
BIT, APEX, PHILLIPS #2 1/4"x 2" P1 07 EA 2
5130-00-690-7259
HOLDER, APEX 5/16" (3/8" DRIVE) WITH BIT P108 EA 1
5120-00-331-5502
BIT, APEX, PHILLIPS #2 -5/16" X 1.25 IN HOLDER P1 08-01 EA 1
5130-00-240-5249
BIT, APEX, PHILLIPS #2 - 5/16" X 1.25 P109 EA 4
5130-00-240-5249
BIT, APEX, PHILLIPS #4 - 5/16" X 1.25 P110 EA 2
5120-00-595-8198
BIT, APEX, TORQ 5/16 - 5/16" X 1 P111 EA 1
BIT, APEX, COINSLOT 1/4" DRIVE P112 EA 1
5120-00-797-2992
BIT, APEX, COINSLOT 3/8" DRIVE P113 EA 1
5120-00-863-4942
DRILL SET, TWIST (#1-60) 60pc + cont P114 SET 1
5133-00-449-6775
6-32 HELI-COIL TAP P114-01 EA 1
5136-00-045-0596
#02 DRILL HSS P1 14-02 EA 1
5133-00-189-9247
#03 DRILL HSS P1 14-03 EA 1
5133-00-189-9248
#04 DRILL HSS P1 14-04 EA 1
5133-00-189-9249
#05 DRILL HSS P1 14-05 EA 1
5133-00-189-9250
#06 DRILL HSS P1 14-06 EA 1
5133-00-189-9251
#07 DRILL HSS P1 14-07 EA 1
5133-00-189-9252
#08 DRILL HSS P1 14-08 EA 1

5133-00-189-9253

Page 2 of 9

1-2194



2007/04/19 10:34:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 150

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#09 DRILL HSS P1 14-09 EA 1
5133-00-189-9254
#10 DRILL HSS P114-10 EA 1
5133-00-189-9255
#11 DRILL HSS P114-11 EA 1
5133-00-189-9256
#12 DRILL HSS P114-12 EA 1
5133-00-189-9257
#13 DRILL HSS P114-13 EA 1
5133-00-189-9258
#14 DRILL HSS P114-14 EA 1
5133-00-189-9259
#15 DRILL HSS P114-15 EA 1
5133-00-189-9260
#16 DRILL HSS P114-16 EA 1
5133-00-189-9261
#17 DRILL HSS P114-17 EA 1
5133-00-189-9262
#18 DRILL HSS P114-18 EA 1
5133-00-189-9263
#19 DRILL HSS P114-19 EA 1
5133-00-189-9264
#20 DRILL HSS P1 14-20 EA 1
5133-00-189-9265
#21 DRILL HSS P114-21 EA 1
5133-00-189-9266
#22 DRILL HSS P114-22 EA 1
5133-00-189-9267
#23 DRILL HSS P1 14-23 EA 1
5133-00-189-9268
#24 DRILL HSS P1 14-24 EA 1
5133-00-189-9269
#25 DRILL HSS P1 14-25 EA 1
5133-00-189-9270
#26 DRILL HSS P1 14-26 EA 1
5133-00-189-9271
#27 DRILL HSS P1 14-27 EA 1
5133-00-189-9272
#28 DRILL HSS P1 14-28 EA 1
5133-00-189-9273
#29 DRILL HSS P1 14-29 EA 1
5133-00-189-9274
#30 DRILL HSS P1 14-30 EA 1
5133-00-189-9275
#31 DRILL HSS P114-31 EA 1
5133-00-189-9276
#32 DRILL HSS P1 14-32 EA 1

5133-00-189-9277

Page 3 of 9

1-2195



2007/04/19 10:34:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 150

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#33 DRILL HSS P1 14-33 EA 1
5133-00-189-9278
#34 DRILL HSS P114-34 EA 1
5133-00-189-9279
#35 DRILL HSS P1 14-35 EA 1
5133-00-189-9280
#36 DRILL HSS P1 14-36 EA 1
5133-00-189-9281
#37 DRILL HSS P114-37 EA 1
5133-00-189-9282
#38 DRILL HSS P114-38 EA 1
5133-00-189-9283
#39 DRILL HSS P114-39 EA 1
5133-00-189-9284
#40 DRILL HSS P114-40 EA 1
5133-00-189-9285
#41 DRILL HSS P114-41 EA 1
5133-00-189-9286
#42 DRILL HSS P114-42 EA 1
5133-00-189-9287
#43 DRILL HSS P1 14-43 EA 1
5133-00-189-9288
#44 DRILL HSS P1 14-44 EA 1
5133-00-189-9289
#45 DRILL HSS P1 14-45 EA 1
5133-00-189-9290
#46 DRILL HSS P1 14-46 EA 1
5133-00-189-9291
#47 DRILL HSS P1 14-47 EA 1
5133-00-189-9292
#48 DRILL HSS P1 14-48 EA 1
5133-00-189-9293
#49 DRILL HSS P1 14-49 EA 1
5133-00-189-9294
#50 DRILL HSS P1 14-50 EA 1
5133-00-189-9295
#51 DRILL HSS P114-51 EA 1
5133-00-189-9296
#52 DRILL HSS P1 14-52 EA 1
5133-00-189-9297
#53 DRILL HSS P1 14-53 EA 1
5133-00-189-9298
#54 DRILL HSS P114-54 EA 1
5133-00-189-9299
#55 DRILL HSS P1 14-55 EA 1
5133-00-189-9300
#56 DRILL HSS P1 14-56 EA 1

5133-00-189-9301

Page 4 of 9

1-2196



2007/04/19 10:34:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 150

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#57 DRILL HSS P1 14-57 EA 1
5133-00-189-9302
#58 DRILL HSS P1 14-58 EA 1
5133-00-189-9303
#59 DRILL HSS P1 14-59 EA 1
5133-00-189-9034
#60 DRILL HSS P1 14-60 EA 1
5133-00-189-9305
HAMMER, BRASS, BALL PEEN P115 EA 1
SCREWDRIVER, RATCHETING 8-3/4" WITH BIT P116 EA 1
5120-01-335-1485
BIT, APEX, PHILLIPS #2 - 1/4" X 1 IN DRIVER P116-01 EA 1
5120-00-595-8197
SCRIBER P117 EA 1
5120-00-224-9728
STUD REMOVER, 1/4" P118 EA 1
5120-00-965-0613
STUD REMOVER, 5/16" P119 EA 1
5120-00-965-0614
STUD REMOVER, 3/8" P120 EA 1

5120-00-965-0615
Sub Total: 93

Page 5 of 9

1-2197



2007/04/19 10:34:18AM
Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 150

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
CHISEL, COLD 1/4" P2 01 EA 1
5110-00-234-1972
FLASHLIGHT, MINIMAG P2 02 EA 1
6230-01-259-4495
PUNCH, CENTER #2 P2 03 EA 1
5120-00-239-3510
PUNCH, CENTER, SPRING LOADED P2 04 EA 1
5120-01-335-1465
PUNCH, PIN DRIVE 5/32" P2 05 EA 1
5120-00-240-6104
RETRIEVER, MAGNETIC P2 06 EA 1
5120-00-545-4268
SOCKET, 1/2" (3/8" DRIVE) P2 07 EA 1
5120-01-350-1007
TAP HANDLE, RATCHETING  1/16 - 1/4" P2 08 EA 1
5120-00-517-5347
TAP HANDLE, RATCHETING  7/32 - 1/2" P2 09 EA 1
5110-00-227-3024
VISE GRIP 5" P2 10 EA 1
5120-00-965-0406
WRENCH, ADJUSTABLE 4" P2 11 EA 1
5120-00-240-5330
WRENCH, COMBINATION 1/2" P2 12 EA 1

5120-01-335-1234
Sub Total: 12

Page 6 of 9

1-2198



2007/04/19 10:34:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 150

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
DRILL, CENTER #4 5/16" P3 01 EA 2
5133-00-224-1965
DRILL, TWIST, #10 x 6" P3 02 EA 1
5133-00-595-8854
DRILL, TWIST, #21 x 6" P3 03 EA 1
5133-00-595-8860
DRILL, TWIST, #30 x 6" P3 04 EA 1
5133-00-116-7234
DRILL, TWIST, #40 x 6" P3 05 EA 1
5133-00-595-8848
DRILL SET, TWIST (9/16" - 1") 8pc + cont P3 06 SET 1
5133-01-196-4553
DRILL, TWIST, COBALT #11 P3 06-01 EA 4
5133-00-065-0980
DRILL, TWIST, COBALT #51 P3 06-02 PG 4
5133-01-399-0733
DRILL, TWIST, COBALT 3/64" P3 06-03 PG 4
5133-01-398-9691
DRILL, TWIST, COBALT 7/64" P3 06-04 PG 4
5133-00-988-5694
DRILL, TWIST, COBALT 1/8" P3 06-05 EA 4
5133-00-988-5695
DRILL, TWIST, COBALT 5/32" P3 06-06 EA 4
5133-00-988-5697
DRILL, TWIST, COBALT 7/32" P3 06-07 EA 4
5133-00-988-5701
DRILL, TWIST, COBALT 1/4" P3 06-08 EA 4
5133-00-988-5703
DRILL, TWIST, COBALT 17/64" P3 06-09 EA 4
5133-00-227-9659
DRILL, TWIST, COBALT 5/16" P3 06-10 EA 4
5133-00-988-5707
FILE, ROTARY, CARBIDE 1/8" P3 06-11 EA 6
3455-00-021-2410
DRILL INDEX, LEFT HAND P3 07 SET 1
NSL---
DRILL, TWIST, LH #11 P3 07-01 EA 2
5133-00-NSL-
DRILL, TWIST, LH #22 P3 07-02 EA 2
5133-00-NSL-
DRILL, TWIST, LH #8 P3 07-03 EA 2
5133-00-NSL-
DRILL, TWIST, LH 7/64" P3 07-04 EA 2
5133-00-NSL-
DRILL, TWIST, LH 5/32" P3 07-05 EA 2
5133-00-NSL-
DRILL, TWIST, LH 7/32" P3 07-06 EA 2
5133-00-NSL-
Page 7 of 9

1-2199



2007/04/19 10:34:18AM
Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 150

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

DRILL, TWIST, LH 1/4" P3 07-07 EA 2
5133-00-NSL-

EXTRACTOR, SCREW INDEX P3 08 SET 1
5120-LO-CAL-MAN

EXTRACTOR, SCREW #1 P3 08-01 EA 4
5120-00-240-5223

EXTRACTOR, SCREW #2 P3 08-02 EA 6
5120-00-580-2359

EXTRACTOR, SCREW #3 P3 08-03 EA 2
5120-00-240-5221

EXTRACTOR, SCREW #4 P3 08-04 EA 2
5120-00-240-5222

FILE, ROTARY TREE P3 09 EA 1
3455-00-023-4249

TAP INDEX P311 SET 1

TAP, THREAD CUTTING, RH  4-40 B P311-01 EA 1
5136-00-729-5689

TAP, THREAD CUTTING, RH  4-40T P311-02 EA 1
5136-00-228-5686

TAP, THREAD CUTTING,RH  6-32B P3 11-03 EA 1
5136-00-227-9455

TAP, THREAD CUTTING,RH  6-32T P3 11-04 EA 1
5136-00-204-1644

TAP, THREAD CUTTING,RH 8-32B P3 11-05 EA 1
5136-00-203-6500

TAP, THREAD CUTTING,RH  8-32T P3 11-06 EA 1
5136-00-203-7074

TAP, THREAD CUTTING, RH 10-32NF B P3 11-07 EA 1
5136-00-203-6212

TAP, THREAD CUTTING, RH 10-32NF T P3 11-08 EA 1
5136-00-516-3370

TAP, THREAD CUTTING, RH 1/4-28 NF B P311-09 EA 1
5136-00-227-8627

TAP, THREAD CUTTING, RH 1/4-28NF T P311-10 EA 1
5136-00-227-8609

TAP, THREAD CUTTING, RH 5/16-24 NF B P311-11 EA 1
5136-00-227-8628

TAP, THREAD CUTTING, RH 5/16-24 NF T P311-12 EA 1
5136-00-865-2229

TAP, THREAD CUTTING, RH 3/8-24 NF B P311-13 EA 1
5136-00-227-8629

TAP, THREAD CUTTING, RH 3/8-24NF T P311-14 EA 1

5136-00-227-8611
Sub Total: 99

Page 8 of 9

1-2200



2007/04/19 10:34:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 150

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert
CTK Component Total: 213
Inventory Reviewed on (date): by:

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date): by:

Scott Schroeder, SMSGT
Fabrication Flight Chief

Page 9 of 9

1-2201



120 Y \

Record Count:

2007/04/19 10:34:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

149
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33B MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
KEY, TOOL BOX EA 1
INVENTORY LIST EA 1
LOCK, BOX EA 1
FOD BAG EA 1
5140-00-LOC-ALMFG
Sub Total: 4

Page 1 of 9

1-2202



2007/04/19 10:34:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

T '
Record Count: 149
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33B MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
DRILL, PNUEMATIC 1/4" BT 01 EA 1
5130-00-294-9511
SPEED HANDLE (3/8" DRIVE) BT 02 EA 1
5120-01-335-1865
WRENCH, IMPACT 3/8" BT 03 EA 1
5130-01-335-1528
GRINDER, DIE 30,000 RPM BT 04 EA 1
5130-01-335-4754
BACK SPOTFACER, 11/16" DIA. BT 05 EA 1
64944 BT 06 EA 1
APEX INDEX BT 07 SET 1
BIT, APEX, PHILLIPS #3-1/4"X 1 BT 07-01 EA 2
5120-00-250-5576
BIT, APEX, PHILLIPS #2 - 1/4" X 1 BT 07-02 EA 6
5120-00-595-8197
BIT, APEX, PHILLIPS #1-1/4"X 1 BT 07-03 EA 2
5120-00-223-6971
BIT, APEX, PHILLIPS #2 1/4"x 2" BT 07-04 EA 2
5130-00-690-7259
BIT, APEX, COINSLOT 3/8" DRIVE BT 07-05 EA 1
5120-00-863-4942
BIT, APEX, COINSLOT 1/4" DRIVE BT 07-06 EA 1
5120-00-797-2992
HOLDER, APEX 1/4" (1/4" DRIVE) WITH BIT BT 07-07 EA 1
5120-00-528-2891
BIT, APEX, PHILLIPS #2 -1/4" X 1 IN HOLDER BT 07-07 EA 1
5120-00-595-8197
HOLDER, APEX 5/16" (3/8" DRIVE) WITH BIT BT 07-08 EA 1
5120-00-331-5502
BIT, APEX, PHILLIPS #4 - 5/16" X 1.25 IN HOLDER BT 07-08 EA 1
5120-00-595-8198
HOLDER, APEX 1/4" (3/8" DRIVE) WITH BIT BT 07-09 EA 1
5120-00-528-2892
BIT, APEX, PHILLIPS #2-1/4"X 1 IN HOLDER BT 07-09 EA 1
5120-00-595-8197
BIT, APEX, PHILLIPS #4 - 5/16" X 1.25 BT 07-10 EA 2
5120-00-595-8198
BIT, APEX, TORQ 5/16 - 5/16" X 1 BT 07-11 EA 1
BIT, APEX, TORQ 1/4-1/4"X 1 BT 07-12 EA 1
5120-00-226-5606
BIT, APEX, TORQ #10-1/4"X 1 BT 07-13 EA 1
5120-00-888-5831
Sub Total: 32

Page 2 of 9

1-2203



2007/04/19 10:34:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 149

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33B MACHINE SHOP LISTA CABINE  LINEKIT SET 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
DRILL SET, TWIST (#1-60) 60pc + cont T101 SET 1
5133-00-449-6775
6-32 HELI-COIL TAP T101-01 EA 1
5136-00-045-0596
#02 DRILL HSS T101-02 EA 1
5133-00-189-9247
#03 DRILL HSS T101-03 EA 1
5133-00-189-9248
#04 DRILL HSS T101-04 EA 1
5133-00-189-9249
#05 DRILL HSS T101-05 EA 1
5133-00-189-9250
#06 DRILL HSS T101-06 EA 1
5133-00-189-9251
#07 DRILL HSS T101-07 EA 1
5133-00-189-9252
#08 DRILL HSS T101-08 EA 1
5133-00-189-9253
#09 DRILL HSS T1 01-09 EA 1
5133-00-189-9254
#10 DRILL HSS T101-10 EA 1
5133-00-189-9255
#11 DRILL HSS T101-11 EA 1
5133-00-189-9256
#12 DRILL HSS T101-12 EA 1
5133-00-189-9257
#13 DRILL HSS T101-13 EA 1
5133-00-189-9258
#14 DRILL HSS T101-14 EA 1
5133-00-189-9259
#15 DRILL HSS T101-15 EA 1
5133-00-189-9260
#16 DRILL HSS T101-16 EA 1
5133-00-189-9261
#17 DRILL HSS T101-17 EA 1
5133-00-189-9262
#18 DRILL HSS T101-18 EA 1
5133-00-189-9263
#19 DRILL HSS T101-19 EA 1
5133-00-189-9264
#20 DRILL HSS T101-20 EA 1
5133-00-189-9265
#21 DRILL HSS T101-21 EA 1
5133-00-189-9266
#22 DRILL HSS T101-22 EA 1
5133-00-189-9267
#23 DRILL HSS T101-23 EA 1

5133-00-189-9268

Page 3 of 9

1-2204



2007/04/19 10:34:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 149

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33B MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#24 DRILL HSS T101-24 EA 1
5133-00-189-9269
#25 DRILL HSS T101-25 EA 1
5133-00-189-9270
#26 DRILL HSS T101-26 EA 1
5133-00-189-9271
#27 DRILL HSS T101-27 EA 1
5133-00-189-9272
#28 DRILL HSS T101-28 EA 1
5133-00-189-9273
#29 DRILL HSS T101-29 EA 1
5133-00-189-9274
#30 DRILL HSS T101-30 EA 1
5133-00-189-9275
#31 DRILL HSS T101-31 EA 1
5133-00-189-9276
#32 DRILL HSS T101-32 EA 1
5133-00-189-9277
#33 DRILL HSS T101-33 EA 1
5133-00-189-9278
#34 DRILL HSS T101-34 EA 1
5133-00-189-9279
#35 DRILL HSS T101-35 EA 1
5133-00-189-9280
#36 DRILL HSS T101-36 EA 1
5133-00-189-9281
#37 DRILL HSS T101-37 EA 1
5133-00-189-9282
#38 DRILL HSS T101-38 EA 1
5133-00-189-9283
#39 DRILL HSS T101-39 EA 1
5133-00-189-9284
#40 DRILL HSS T101-40 EA 1
5133-00-189-9285
#41 DRILL HSS T101-41 EA 1
5133-00-189-9286
#42 DRILL HSS T101-42 EA 1
5133-00-189-9287
#43 DRILL HSS T101-43 EA 1
5133-00-189-9288
#44 DRILL HSS T101-44 EA 1
5133-00-189-9289
#45 DRILL HSS T101-45 EA 1
5133-00-189-9290
#46 DRILL HSS T101-46 EA 1
5133-00-189-9291
#47 DRILL HSS T101-47 EA 1

5133-00-189-9292

Page 4 of 9

1-2205



2007/04/19 10:34:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 149

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33B MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#48 DRILL HSS T101-48 EA 1
5133-00-189-9293
#49 DRILL HSS T101-49 EA 1
5133-00-189-9294
#50 DRILL HSS T101-50 EA 1
5133-00-189-9295
#51 DRILL HSS T101-51 EA 1
5133-00-189-9296
#52 DRILL HSS T101-52 EA 1
5133-00-189-9297
#53 DRILL HSS T101-53 EA 1
5133-00-189-9298
#54 DRILL HSS T101-54 EA 1
5133-00-189-9299
#55 DRILL HSS T101-55 EA 1
5133-00-189-9300
#56 DRILL HSS T101-56 EA 1
5133-00-189-9301
#57 DRILL HSS T101-57 EA 1
5133-00-189-9302
#58 DRILL HSS T101-58 EA 1
5133-00-189-9303
#59 DRILL HSS T101-59 EA 1
5133-00-189-9034
#60 DRILL HSS T101-60 EA 1
5133-00-189-9305
DRILL INDEX T102 SET 1
DRILL, TWIST, COBALT 5/16" T102-01 EA 2
5133-00-988-5707
17/64 DRILL T102-02 EA 4
DRILL, TWIST, COBALT 1/4" T1 02-03 EA 4
5133-00-988-5703
DRILL, TWIST, COBALT 7/32" T1 02-04 EA 4
5133-00-988-5701
DRILL, TWIST, COBALT #11 T1 02-05 EA 4
5133-00-065-0980
DRILL, TWIST, COBALT 5/32" T1 02-06 EA 4
5133-00-988-5697
DRILL, TWIST, COBALT 1/8" T1 02-07 EA 4
5133-00-988-5695
DRILL, TWIST, COBALT 7/64" T1 02-08 PG 4
5133-00-988-5694
#51 DRILL HSS T1 02-09 EA 4
5133-00-189-9296
DRILL, TWIST, COBALT 3/64" T102-10 PG 4

5133-01-398-9691

Page 5 of 9

1-2206



2007/04/19 10:34:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 149

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33B MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
FILE, ROTARY, CARBIDE 1/8" T102-11 EA 6
3455-00-021-2410
TAP INDEX T103 SET 1
TAP, THREAD CUTTING, RH 3/8-24NF T T103-01 EA 1
5136-00-227-8611
TAP, THREAD CUTTING, RH 3/8-24 NF B T103-02 EA 1
5136-00-227-8629
TAP, THREAD CUTTING, RH 5/16-24 NF T T103-03 EA 1
5136-00-865-2229
TAP, THREAD CUTTING, RH 5/16-24 NF B T103-04 EA 1
5136-00-227-8628
TAP, THREAD CUTTING, RH 1/4-28NF T T1 03-05 EA 1
5136-00-227-8609
TAP, THREAD CUTTING, RH 1/4-28 NF B T1 03-06 EA 1
5136-00-227-8627
TAP, THREAD CUTTING, RH 10-32NF T T1 03-07 EA 1
5136-00-516-3370
TAP, THREAD CUTTING, RH 10-32NF B T103-08 EA 1
5136-00-203-6212
TAP, THREAD CUTTING,RH  8-32T T103-09 EA 1
5136-00-203-7074
TAP, THREAD CUTTING, RH 8-32B T103-10 EA 1
5136-00-203-6500
TAP, THREAD CUTTING,RH  6-32T T103-11 EA 1
5136-00-204-1644
TAP, THREAD CUTTING,RH 6-32B T103-12 EA 1
5136-00-227-9455
TAP, THREAD CUTTING,RH  4-40T T103-13 EA 1
5136-00-228-5686
TAP, THREAD CUTTING, RH  4-40 B T103-14 EA 1
5136-00-729-5689
DRILL INDEX, LEFT HAND T104 SET 1
NSL---
DRILL, TWIST, LH 7/64" T1 04-01 EA 4
5133-00-NSL-
DRILL, TWIST, LH 5/32" T1 04-02 EA 2
5133-00-NSL-
DRILL, TWIST, LH #22 T1 04-03 EA 2
5133-00-NSL-
DRILL, TWIST, LH #8 T1 04-04 EA 2
5133-00-NSL-
DRILL, TWIST, LH #11 T1 04-05 EA 2
5133-00-NSL-
DRILL, TWIST, LH 7/32" T1 04-06 EA 2
5133-00-NSL-
DRILL, TWIST, LH 1/4" T1 04-07 EA 2
5133-00-NSL-
Page 6 of 9

1-2207



2007/04/19 10:34:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 149

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33B MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

TAP HANDLE, RATCHETING  1/16 - 1/4" T105 EA 1
5120-00-517-5347

TAP HANDLE, RATCHETING  7/32 - 1/2" T106 EA 1
5110-00-227-3024

DRILL, CENTER #2 3/16" T107 EA 2
5133-00-224-8624

DRILL, CENTER #3 1/4" T108 EA 2
5133-00-555-3610

EXTRACTOR, SCREW INDEX T109 SET 1
5120-LO-CAL-MAN

EXTRACTOR, SCREW #4 T1 09-01 EA 2
5120-00-240-5222

EXTRACTOR, SCREW #3 T1 09-02 EA 2
5120-00-240-5221

EXTRACTOR, SCREW #2 T1 09-03 EA 6
5120-00-580-2359

EXTRACTOR, SCREW #1 T1 09-04 EA 4

5120-00-240-5223
Sub Total: 159

Page 7 of 9

1-2208



2007/04/19 10:34:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 149

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33B MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
HAMMER, BRASS, BALL PEEN T201 EA 1
SCRIBER T2 02 EA 1
5120-00-224-9728
SCREWDRIVER, RATCHETING 8-3/4" WITH BIT T2 03 EA 1
5120-01-335-1485
BIT, APEX, PHILLIPS #2 - 1/4" X 1 IN DRIVER T2 03-01 EA 1
5120-00-595-8197
STUD REMOVER, 1/4" T2 04 EA 1
5120-00-965-0613
STUD REMOVER, 5/16" T2 05 EA 1
5120-00-965-0614
STUD REMOVER, 3/8" T2 06 EA 1
5120-00-965-0615
SOCKET, 1/2" (3/8" DRIVE) T2 07 EA 1
5120-01-350-1007
FLASHLIGHT, MINIMAG T2 08 EA 1
6230-01-259-4495
PUNCH, PIN DRIVE 1/8" T2 09 EA 1
5120-00-242-5966
PUNCH, CENTER #2 T2 10 EA 1
5120-00-239-3510
CHISEL, COLD 1/4" T2 11 EA 1
5110-00-234-1972
PUNCH, CENTER, SPRING LOADED T2 12 EA 1
5120-01-335-1465
RETRIEVER, MAGNETIC T2 13 EA 1
5120-00-545-4268
VISE GRIP 5" T2 14 EA 1
5120-00-965-0406
WRENCH, ADJUSTABLE 4" T2 15 EA 1
5120-00-240-5330
WRENCH, COMBINATION 1/2" T2 16 EA 1

5120-01-335-1234
Sub Total: 17

Page 8 of 9

1-2209



2007/04/19 10:34:42AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 149

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF33B MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert
CTK Component Total: 212
Inventory Reviewed on (date): by:

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date): by:

Scott Schroeder, SMSGT
Fabrication Flight Chief

Page 9 of 9

1-2210



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert
KEY, TOOL BOX EA 1
MAXI-KIT KIT 1
INVENTORY LIST EA 1
MAXI-KIT KIT 1
Sub Total: 4
Page 1 of 29

1-2211



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CALIPER, HERMAPHRODITE 6" 0101 EA 1
5210-00-229-3026

MAXI-KIT 0101 KIT 1

CALIPER, INSIDE 3" 0102 EA 1
5210-00-229-3076

MAXI-KIT 0102 KIT 1

CALIPER, INSIDE 6" 0103 EA 1
5210-00-229-3051

MAXI-KIT 0103 KIT 1

CALIPER, OUTSIDE 4" 0104 EA 1
5210-00-229-3047

MAXI-KIT 0104 KIT 1

CALIPER, OUTSIDE 6" 0105 EA 1
5210-00-229-3048

MAXI-KIT 0105 KIT 1

COMB. SQ, CENTER HEAD 01 06 EA 1
5210-01-335-9133

MAXI-KIT 01 06 KIT 1

COMB. SQ, MITER HEAD 01 07 EA 1
5210-01-335-9134

MAXI-KIT 01 07 KIT 1

COMB. SQ, PROTRACTOR HEAD 0108 EA 1
5210-01-335-9142

MAXI-KIT 0108 KIT 1

DIVIDERS 3" 0109 EA 1
5210-00-266-7042

MAXI-KIT 0109 KIT 1

DIVIDERS 6" 0110 EA 1
5210-00-263-0378

MAXI-KIT 0110 KIT 1

GAGE, CENTER, 60 deg 0111 EA 1
5210-00-222-4000

MAXI-KIT 0111 KIT 1

GAGE, DEPTH, RULE 6" 0112 EA 1
5210-00-221-1902

MAXI-KIT 0112 KIT 1
Page 2 of 29

1-2212



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

PUNCH, CENTER #2 0113 EA 1
5120-00-239-3510

MAXI-KIT 0113 KIT 1

PUNCH, CENTER #5 0114 EA 1
5120-00-239-3509

MAXI-KIT 0114 KIT 1

PUNCH, CENTER #7 0115 EA 1
5120-00-237-4956

MAXI-KIT 0115 KIT 1

PUNCH, CENTER, SPRING LOADED 0116 EA 1
5120-01-335-1465

MAXI-KIT 0116 KIT 1

RULE, HOOK 6" 0117 EA 1
5120-00-239-0490

MAXI-KIT 0117 KIT 1

RULE, MACHINIST 6" 0118 EA 1
5210-00-234-5223

MAXI-KIT 0118 KIT 1

RULE, STEEL 24" 0119 EA 1
5210-00-078-8950

MAXI-KIT 0119 KIT 1

RULE, STEEL MACHINIST 12" 0120 EA 1
5210-00-234-5224

MAXI-KIT 0120 KIT 1

SCRIBER 0121 EA 1
5120-00-224-9728

MAXI-KIT 0121 KIT 1

SQUARE, DIE MAKERS 01 22 EA 1
5210-00-257-0876

MAXI-KIT 01 22 KIT 1

SQUARE, MACHINIST 3" 0123 EA 1
5210-00-277-7440

MAXI-KIT 0123 KIT 1

Sub Total: 46
Page 3 of 29

1-2213



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

ACCESSORY, TEST INDICATOR BASE 0201 EA 4

MAXI-KIT 0201 KIT 4

ATTACHMENT, DEPTH, DIAL CALIPER 02 02 EA 1

MAXI-KIT 02 02 KIT 1

CALIPER, DIAL 6" (+ cont) F268095 0203 EA 1
F268094 5210-01-010-4522

MAXI-KIT F268095 0203 KIT 1

F268094

EXTRACTOR, COTTER PIN 0204 EA 1
5120-00-222-4284

MAXI-KIT 0204 KIT 1

EXTRACTOR, SCREW #1 02 05 EA 1
5120-00-240-5223

MAXI-KIT 02 05 KIT 1

EXTRACTOR, SCREW #2 02 06 EA 1
5120-00-580-2359

MAXI-KIT 02 06 KIT 1

EXTRACTOR, SCREW #3 02 07 EA 1
5120-00-240-5221

MAXI-KIT 02 07 KIT 1

EXTRACTOR, SCREW #4 02 08 EA 1
5120-00-240-5222

MAXI-KIT 02 08 KIT 1

EXTRACTOR, SCREW #5 02 09 EA 1
5120-00-243-2933

MAXI-KIT 02 09 KIT 1

EXTRACTOR, SCREW #6 0210 EA 1
5120-00-240-5220

MAXI-KIT 0210 KIT 1

FILE, THREAD (COARSE) 0211 EA 1
5110-00-373-1691

MAXI-KIT 0211 KIT 1

FILE, THREAD (FINE) 0212 EA 1
5110-00-516-3812

MAXI-KIT 0212 KIT 1
Page 4 of 29

1-2214



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert
GAGE BLOCK, MICROMETER 1" 0213 EA 1
5220-NS-L-

MAXI-KIT 0213 KIT 1
GAGE, TELESCOPING 5/16 - 1/2 02 14 EA 1
5210-00-221-2084
MAXI-KIT 02 14 KIT 1
GAGE, TELESCOPING 1/2 - 3/4 02 15 EA 1
5210-00-221-2085
MAXI-KIT 02 15 KIT 1
GAGE, TELESCOPING 3/4-11/4 02 16 EA 1
5210-00-221-2086
MAXI-KIT 02 16 KIT 1
GAGE, TELESCOPING 11/4-21/8 02 17 EA 1
5210-00-221-2087
MAXI-KIT 02 17 KIT 1
GAGE, TELESCOPING 21/8-3 1/2 0218 EA 1
5210-00-221-2076
MAXI-KIT 0218 KIT 1
GAGE, TELESCOPING 31/2-6 0219 EA 1
5210-00-221-2077
MAXI-KIT 0219 KIT 1
GAGE, THICKNESS 02 20 EA 1
5120-00-223-9191
MAXI-KIT 02 20 KIT 1
GAGE, SCREW PITCH 0221 EA 1
5210-01-335-1618
MAXI-KIT 0221 KIT 1
INDICATOR, TEST 02 22 EA 1
5210-00-223-9648
MAXI-KIT 02 22 KIT 1
MAGNETIC BASE, INDICATOR 02 23 EA 1
5120-00-390-5446
MAXI-KIT 02 23 KIT 1
MICROMETER, OUTSIDE 0-1" C231774 02 24 EA

C231774 5210-00-540-2973
MAXI-KIT C231774 02 24 KIT
C231774

Page 5 of 29

1-2215



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
MICROMETER, OUTSIDE 1-2" C356672 02 25 EA 1
C356672 5210-00-243-2933
MAXI-KIT C356672 02 25 KIT 1
C356672
MIRROR, INSPECTION, OVAL 02 26 EA 1
5120-00-596-1098
MAXI-KIT 02 26 KIT 1
TAP HANDLE, RATCHETING  1/16 - 1/4" 0227 EA 1
5120-00-517-5347
MAXI-KIT 0227 KIT 1
TAPE, STEEL 25' 0228 EA 1
5210-01-139-7444
MAXI-KIT 0228 KIT 1
TAPE, STEEL 10' 0229 EA 1
5210-00-293-3505
MAXI-KIT 0229 KIT 1
DEBURRING TOOL 02 30 EA 1
5120-00-NSL-
MAXI-KIT 02 30 KIT 1
WRENCH, MICROMETER 02 31 EA 1
MAXI-KIT 02 31 KIT 1
Sub Total: 68
Page 6 of 29

1-2216



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

PLIERS, CHANNEL LOCK 9" 0301 EA 1
5120-01-335-1561

MAXI-KIT 0301 KIT 1

PLIERS, DIAGONAL CUTTING 7 1/2" 03 02 EA 1
5110-00-222-2708

MAXI-KIT 03 02 KIT 1

PLIERS, NEEDLE NOSE 6" 0303 EA 1
5120-00-293-3481

MAXI-KIT 0303 KIT 1

PLIERS, SLIP JOINT 5-1/2" 0304 EA 1
5120-00-223-7396

MAXI-KIT 0304 KIT 1

SCREWDRIVER, FLAT TIP 5/16"x6" 03 05 EA 1
5120-00-234-8910

MAXI-KIT 03 05 KIT 1

SCREWDRIVER, FLAT TIP 7/32"x 1 1/2" 03 07 EA 1
5120-00-222-8866

MAXI-KIT 03 07 KIT 1

SCREWDRIVER, FLAT TIP 7/32"x 3" 03 08 EA 1
5120-00-293-3311

MAXI-KIT 03 08 KIT 1

SCREWDRIVER, FLAT TIP 9/64"x 5" 03 08 EA 1
5120-00-287-2505

MAXI-KIT 03 08 KIT 1

SCREWDRIVER, PHILLIPS #1 X 3" 03 09 EA 1
5120-00-240-8716

MAXI-KIT 03 09 KIT 1

SCREWDRIVER, PHILLIPS #2 X 1-1/2" 0310 EA 1
5120-00-227-7293

MAXI-KIT 0310 KIT 1

SCREWDRIVER, PHILLIPS #3 X 6" 0311 EA 1
5120-00-234-8912

MAXI-KIT 0311 KIT 1

SCREWDRIVER, RATCHETING 8-3/4" w/apex bit 0312 EA 1
5120-01-335-1485

MAXI-KIT w/apex bit 0312 KIT 1
Page 7 of 29

1-2217



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

BIT, APEX, PHILLIPS #2 -1/4"X 1 in screwdriver 03 12-01 EA 1
5120-00-595-8197

MAXI-KIT in screwdriver 03 12-01 KIT 1

SCREWDRIVER, RATCHETING OFFSET 0313 EA 1
5120-01-432-5179

MAXI-KIT 0313 KIT 1

VISE GRIP 10" 03 14 EA 1
5120-00-494-1911

MAXI-KIT 03 14 KIT 1

VISE GRIP 5" 03 15 EA 1
5120-00-965-0406

MAXI-KIT 03 15 KIT 1

VISE GRIP 7" 03 16 EA 1
5120-00-494-1910

MAXI-KIT 03 16 KIT 1

WRENCH, ADJUSTABLE 10" 03 17 EA 1
5120-00-449-8083

MAXI-KIT 03 17 KIT 1

WRENCH, ADJUSTABLE 4" 03 18 EA 1
5120-00-240-5330

MAXI-KIT 03 18 KIT 1

WRENCH, ADJUSTABLE 8" 0319 EA 1
5120-00-264-5328

MAXI-KIT 0319 KIT 1

WRENCH, MONKEY 03 20 EA 1
5120-00-240-5336

MAXI-KIT 03 20 KIT 1

Sub Total: 42
Page 8 of 29

1-2218



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

SOCKET EXTENSION 4" (1/4" DRIVE) 0401 EA 1
5120-01-335-1071

MAXI-KIT 04 01 KIT 1

SOCKET EXTENSION 6" (1/4" DRIVE) 04 02 EA 1
5120-00-243-7325

MAXI-KIT 04 02 KIT 1

HANDLE, SLIDING TEE 1/4" DR. 0403 EA 1
5120-00-221-7966

MAXI-KIT 04 03 KIT 1

HANDLE, SOCKET (1/4" DRIVE) 04 04 EA 1
5120-00-242-3256

MAXI-KIT 04 04 KIT 1

RATCHET (1/4" DRIVE) 04 05 EA 1
5120-00-221-7957

MAXI-KIT 04 05 KIT 1

SOCKET, 3/16" (1/4" DRIVE) 04 06 EA 1
5120-00-236-2262

MAXI-KIT 04 06 KIT 1

SOCKET, 7/32" (1/4" DRIVE) 04 07 EA 1
5120-00-236-2263

MAXI-KIT 04 07 KIT 1

SOCKET, 1/4" (1/4" DRIVE) 04 08 EA 1
5120-00-236-2264

MAXI-KIT 04 08 KIT 1

SOCKET, 5/16" (1/4" DRIVE) 04 09 EA 1
5120-00-235-5878

MAXI-KIT 04 09 KIT 1

SOCKET, 11/32" (1/4" DRIVE) 04 10 EA 1
5120-00-242-3351

MAXI-KIT 04 10 KIT 1

SOCKET, 3/8" (1/4" DRIVE) 0411 EA 1
5120-00-242-3352

MAXI-KIT 0411 KIT 1

SOCKET, 7/16" (1/4" DRIVE) 0412 EA 1
5120-00-235-5869

MAXI-KIT 04 12 KIT 1
Page 9 of 29

1-2219



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
SOCKET, 1/2" (1/4" DRIVE) 04 13 EA 1
5120-00-189-8610
MAXI-KIT 04 13 KIT 1
SOCKET, 9/32" (1/4" DRIVE) 04 14 EA 1
5120-00-242-3345
MAXI-KIT 04 14 KIT 1
SOCKET, DEEP 3/16" (1/4" DRIVE) 04 15 EA 1
5120-00-935-7492
MAXI-KIT 04 15 KIT 1
SOCKET, DEEP 7/32" (1/4" DRIVE) 04 16 EA 1
5120-00-935-7493
MAXI-KIT 04 16 KIT 1
SOCKET, DEEP 1/4" (1/4" DRIVE) 04 17 EA 1
5120-00-817-1187
MAXI-KIT 04 17 KIT 1
SOCKET, DEEP 9/32" (1/4" DRIVE) 04 18 EA 1
5120-00-935-7495
MAXI-KIT 04 18 KIT 1
SOCKET, DEEP 5/16" (1/4" DRIVE) 0419 EA 1
5120-00-104-1735
MAXI-KIT 0419 KIT 1
SOCKET, DEEP 11/32" (1/4" DRIVE) 04 20 EA 1
5120-00-888-6120
MAXI-KIT 04 20 KIT 1
SOCKET, DEEP 3/8" (1/4" DRIVE) 04 21 EA 1
5120-00-935-7498
MAXI-KIT 04 21 KIT 1
SOCKET, DEEP 7/16" (1/4" DRIVE) 04 22 EA 1
5120-00-775-6980
MAXI-KIT 04 22 KIT 1
SOCKET, DEEP 1/2" (1/4" DRIVE) 04 23 EA 1
5120-00-263-9791
MAXI-KIT 04 23 KIT 1
UNIVERSAL JOINT (1/4" DRIVE) 04 24 EA 1
5120-00-243-1686
MAXI-KIT 04 24 KIT 1

Page 10 of 29

1-2220



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
ADAPTER, SOCKET 1/4"-3/8" DR 04 25 EA 1
5120-00-227-8096
MAXI-KIT 04 25 KIT 1
ADAPTER, SOCKET 3/8"-1/4" DR 04 26 EA 1
5120-00-224-9291
MAXI-KIT 04 26 KIT 1
BREAKER BAR, (3/8" DRIVE) 04 27 EA 1
5120-01-335-0742
MAXI-KIT 04 27 KIT 1
SOCKET EXTENSION 11" (3/8" DRIVE) 04 28 EA 1
5120-01-335-1061
MAXI-KIT 04 28 KIT 1
SOCKET EXTENSION 3" (3/8" DRIVE) 04 29 EA 1
5120-01-335-1057
MAXI-KIT 04 29 KIT 1
SOCKET EXTENSION 6" (3/8" DRIVE) 04 30 EA 1
5120-01-335-1059
MAXI-KIT 04 30 KIT 1
HANDLE, SLIDING TEE 3/8" DR. 04 31 EA 1
5120-00-241-3143
MAXI-KIT 04 31 KIT 1
HANDLE, SOCKET (3/8" DRIVE) 04 32 EA 1
5120-00-288-6514
MAXI-KIT 04 32 KIT 1
HOLDER, APEX 1/4" (1/4" DRIVE) bit installed 04 33 EA 1
5120-00-528-2891
MAXI-KIT bit installed 04 33 KIT 1
BIT, APEX, PHILLIPS #1-1/4"X 1 in holder 04 33-01 EA 1
5120-00-223-6971
MAXI-KIT in holder 04 33-01 KIT 1
HOLDER, APEX 1/4" (1/4" DRIVE) bit installed 04 34 EA 1
5120-00-528-2891
MAXI-KIT bit installed 04 34 KIT 1
BIT, APEX, PHILLIPS #2 -1/4" X 1 in holder 04 34-01 EA 1
5120-00-595-8197
MAXI-KIT in holder 04 34-01 KIT 1

Page 11 of 29

1-2221



13 £
Record Count: 626

\

2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

CTK ID Location CTK Nomenclature CTK UOI
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA
Nomenclature Serial Number Location Uoil

PMEL/TMDE ID NSN Local Man Nuclear Cert

HOLDER, APEX 1/4" (1/4" DRIVE) bit installed 04 35 EA
5120-00-528-2891

MAXI-KIT bit installed 04 35 KIT

BIT, APEX, PHILLIPS #3-1/4"X 1 in holder 04 35-01 EA
5120-00-250-5576

MAXI-KIT in holder 04 35-01 KIT

HOLDER, APEX 5/16" (3/8" DRIVE) bit installed 04 36 EA
5120-00-331-5502

MAXI-KIT bit installed 04 36 KIT

BIT, APEX, PHILLIPS #2 - 5/16" X 1.25 in holder 04 36-01 EA
5130-00-240-5249

MAXI-KIT in holder 04 36-01 KIT

HOLDER, APEX 5/16" (3/8" DRIVE) bit installed 04 37 EA
5120-00-331-5502

MAXI-KIT bit installed 04 37 KIT

BIT, APEX, PHILLIPS #3 - 5/16" X 1.25 in holder 04 37-01 EA
5130-00-240-5250

MAXI-KIT in holder 04 37-01 KIT

HOLDER, APEX 5/16" (3/8" DRIVE) bit installed 04 38 EA
5120-00-331-5502

MAXI-KIT bit installed 04 38 KIT

BIT, APEX, PHILLIPS #4 - 5/16" X 1.25 in holder 04 38-01 EA
5120-00-595-8198

MAXI-KIT in holder 04 38-01 KIT

HOLDER, APEX 1/4" (3/8" DRIVE) bit installed 04 39 EA
5120-00-528-2892

MAXI-KIT bit installed 04 39 KIT

BIT, APEX, TORQ #10-1/4"X 1 in holder 04 39-01 EA
5120-00-888-5831

MAXI-KIT in holder 04 39-01 KIT

RATCHET (3/8" DRIVE) 04 40 EA
5120-01-335-0720

MAXI-KIT 04 40 KIT

SOCKET, 3/8" (3/8" DRIVE) 04 42 EA
5120-01-350-1005

MAXI-KIT 04 42 KIT

Page 12 of 29

1-2222



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
SOCKET, 7/16" (3/8" DRIVE) 04 43 EA 1
5120-01-350-1006
MAXI-KIT 04 43 KIT 1
SOCKET, 1/2" (3/8" DRIVE) 04 44 EA 1
5120-01-350-1007
MAXI-KIT 04 44 KIT 1
SOCKET, 9/16" (3/8" DRIVE) 04 45 EA 1
5120-01-350-0989
MAXI-KIT 04 45 KIT 1
SOCKET, 9/16" (3/8" DRIVE) 04 45 EA 1
5120-01-350-0989
MAXI-KIT 04 45 KIT 1
SOCKET, 5/8" (3/8" DRIVE) 04 46 EA 1
5120-01-350-0990
MAXI-KIT 04 46 KIT 1
SOCKET, 11/16" (3/8" DRIVE) 04 47 EA 1
5120-01-350-0991
MAXI-KIT 04 47 KIT 1
SOCKET, 3/4" (3/8" DRIVE) 04 48 EA 1
5120-01-350-0992
MAXI-KIT 04 48 KIT 1
SOCKET, DEEP 13/16" (3/8" DRIVE) 04 49 EA 1
5120-01-335-0912
MAXI-KIT 04 49 KIT 1
SOCKET, 13/16" (3/8" DRIVE) 04 49 EA 1
5120-01-350-0993
MAXI-KIT 04 49 KIT 1
SOCKET, 7/8" (3/8" DRIVE) 04 50 EA 1
MAXI-KIT 04 50 KIT 1
SOCKET, DEEP 3/8" (3/8" DRIVE) 04 51 EA 1
5120-01-335-0904
MAXI-KIT 04 51 KIT 1
SOCKET, DEEP 7/16" (3/8" DRIVE) 04 52 EA 1
5120-01-335-0905
MAXI-KIT 04 52 KIT 1

Page 13 of 29

1-2223



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

SOCKET, DEEP 1/2" (3/8" DRIVE) 04 53 EA 1
5120-01-335-0906

MAXI-KIT 04 53 KIT 1

SOCKET, DEEP 5/8" (3/8" DRIVE) 04 54 EA 1
5120-01-335-0909

MAXI-KIT 04 54 KIT 1

SOCKET, DEEP 11/16" (3/8" DRIVE) 04 55 EA 1

MAXI-KIT 04 55 KIT 1

SOCKET, DEEP 3/4" (3/8" DRIVE) 04 56 EA 1
5120-01-335-0911

MAXI-KIT 04 56 KIT 1

SOCKET, DEEP 7/8" (3/8" DRIVE) 04 58 EA 1
5120-01-335-0857

MAXI-KIT 04 58 KIT 1

SPEED HANDLE (3/8" DRIVE) 04 59 EA 1
5120-01-335-1865

MAXI-KIT 04 59 KIT 1

UNIVERSAL JOINT (3/8" DRIVE) 04 60 EA 1
5120-01-335-1045

MAXI-KIT 04 60 KIT 1

Sub Total: 134

Page 14 of 29

1-2224



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

DRILL, PNUEMATIC 1/4" 0501 EA 1
5130-00-294-9511

MAXI-KIT 0501 KIT 1

FLASHLIGHT, MINIMAG 05 02 EA 1
6230-01-259-4495

MAXI-KIT 05 02 KIT 1

HAMMER, BALL PEEN 160z 0503 EA 1
5120-01-335-2050

MAXI-KIT 0503 KIT 1

HAMMER, BALL PEEN 8oz 0504 EA 1
5120-00-061-8541

MAXI-KIT 0504 KIT 1

HAMMER, COPPER 3lb. 05 05 EA 1
5120-00-902-0089

MAXI-KIT 05 05 KIT 1

HAMMER, SOFT FACE INSERTED 1-1/2" 05 06 EA 1
5120-00-903-8547

MAXI-KIT 05 06 KIT 1

LANTERN, HEAD 05 07 EA 1
3630-00-163-1856

MAXI-KIT 05 07 KIT 1

NOZZLE, AIR 05 08 EA 1
4940-00-861-5570

MAXI-KIT 05 08 KIT 1

OIL, AIR TOOL LUBRICANT 05 09 BT 1

MAXI-KIT 05 09 KIT 1

WRENCH, IMPACT 3/8" 0510 EA 1
5130-01-335-1528

MAXI-KIT 0510 KIT 1

Sub Total: 20

Page 15 of 29

1-2225



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT KIT 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
MAXI-KIT 06 01 KIT 1
DRILL SET, TWIST (#1-60) 60pc + cont 06 01 SET 1
5133-00-449-6775
6-32 HELI-COIL TAP 06 01-01 EA 1
5136-00-045-0596
MAXI-KIT 06 01-01 KIT 1
#02 DRILL HSS 06 01-02 EA 1
5133-00-189-9247
MAXI-KIT 06 01-02 KIT 1
#03 DRILL HSS 06 01-03 EA 1
5133-00-189-9248
MAXI-KIT 06 01-03 KIT 1
#04 DRILL HSS 06 01-04 EA 1
5133-00-189-9249
MAXI-KIT 06 01-04 KIT 1
#05 DRILL HSS 06 01-05 EA 1
5133-00-189-9250
MAXI-KIT 06 01-05 KIT 1
#06 DRILL HSS 06 01-06 EA 1
5133-00-189-9251
MAXI-KIT 06 01-06 KIT 1
#07 DRILL HSS 06 01-07 EA 1
5133-00-189-9252
MAXI-KIT 06 01-07 KIT 1
#08 DRILL HSS 06 01-08 EA 1
5133-00-189-9253
MAXI-KIT 06 01-08 KIT 1
#09 DRILL HSS 06 01-09 EA 1
5133-00-189-9254
MAXI-KIT 06 01-09 KIT 1
#10 DRILL HSS 06 01-10 EA 1
5133-00-189-9255
MAXI-KIT 06 01-10 KIT 1
#11 DRILL HSS 06 01-11 EA 1
5133-00-189-9256
MAXI-KIT 06 01-11 KIT 1

Page 16 of 29

1-2226



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#12 DRILL HSS 06 01-12 EA 1
5133-00-189-9257
MAXI-KIT 06 01-12 KIT 1
#13 DRILL HSS 06 01-13 EA 1
5133-00-189-9258
MAXI-KIT 06 01-13 KIT 1
#14 DRILL HSS 06 01-14 EA 1
5133-00-189-9259
MAXI-KIT 06 01-14 KIT 1
#15 DRILL HSS 06 01-15 EA 1
5133-00-189-9260
MAXI-KIT 06 01-15 KIT 1
#16 DRILL HSS 06 01-16 EA 1
5133-00-189-9261
MAXI-KIT 06 01-16 KIT 1
#17 DRILL HSS 06 01-17 EA 1
5133-00-189-9262
MAXI-KIT 06 01-17 KIT 1
#18 DRILL HSS 06 01-18 EA 1
5133-00-189-9263
MAXI-KIT 06 01-18 KIT 1
#19 DRILL HSS 06 01-19 EA 1
5133-00-189-9264
MAXI-KIT 06 01-19 KIT 1
#20 DRILL HSS 06 01-20 EA 1
5133-00-189-9265
MAXI-KIT 06 01-20 KIT 1
#21 DRILL HSS 06 01-21 EA 1
5133-00-189-9266
MAXI-KIT 06 01-21 KIT 1
#22 DRILL HSS 06 01-22 EA 1
5133-00-189-9267
MAXI-KIT 06 01-22 KIT 1
#23 DRILL HSS 06 01-23 EA 1
5133-00-189-9268
MAXI-KIT 06 01-23 KIT 1

Page 17 of 29

1-2227



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#24 DRILL HSS 06 01-24 EA 1
5133-00-189-9269
MAXI-KIT 06 01-24 KIT 1
#25 DRILL HSS 06 01-25 EA 1
5133-00-189-9270
MAXI-KIT 06 01-25 KIT 1
#26 DRILL HSS 06 01-26 EA 1
5133-00-189-9271
MAXI-KIT 06 01-26 KIT 1
#27 DRILL HSS 06 01-27 EA 1
5133-00-189-9272
MAXI-KIT 06 01-27 KIT 1
#28 DRILL HSS 06 01-28 EA 1
5133-00-189-9273
MAXI-KIT 06 01-28 KIT 1
#29 DRILL HSS 06 01-29 EA 1
5133-00-189-9274
MAXI-KIT 06 01-29 KIT 1
#30 DRILL HSS 06 01-30 EA 1
5133-00-189-9275
MAXI-KIT 06 01-30 KIT 1
#31 DRILL HSS 06 01-31 EA 1
5133-00-189-9276
MAXI-KIT 06 01-31 KIT 1
#32 DRILL HSS 06 01-32 EA 1
5133-00-189-9277
MAXI-KIT 06 01-32 KIT 1
#33 DRILL HSS 06 01-33 EA 1
5133-00-189-9278
MAXI-KIT 06 01-33 KIT 1
#34 DRILL HSS 06 01-34 EA 1
5133-00-189-9279
MAXI-KIT 06 01-34 KIT 1
#35 DRILL HSS 06 01-35 EA 1
5133-00-189-9280
MAXI-KIT 06 01-35 KIT 1

Page 18 of 29

1-2228



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#36 DRILL HSS 06 01-36 EA 1
5133-00-189-9281
MAXI-KIT 06 01-36 KIT 1
#37 DRILL HSS 06 01-37 EA 1
5133-00-189-9282
MAXI-KIT 06 01-37 KIT 1
#38 DRILL HSS 06 01-38 EA 1
5133-00-189-9283
MAXI-KIT 06 01-38 KIT 1
#39 DRILL HSS 06 01-39 EA 1
5133-00-189-9284
MAXI-KIT 06 01-39 KIT 1
#40 DRILL HSS 06 01-40 EA 1
5133-00-189-9285
MAXI-KIT 06 01-40 KIT 1
#41 DRILL HSS 06 01-41 EA 1
5133-00-189-9286
MAXI-KIT 06 01-41 KIT 1
#42 DRILL HSS 06 01-42 EA 1
5133-00-189-9287
MAXI-KIT 06 01-42 KIT 1
#43 DRILL HSS 06 01-43 EA 1
5133-00-189-9288
MAXI-KIT 06 01-43 KIT 1
#44 DRILL HSS 06 01-44 EA 1
5133-00-189-9289
MAXI-KIT 06 01-44 KIT 1
#45 DRILL HSS 06 01-45 EA 1
5133-00-189-9290
MAXI-KIT 06 01-45 KIT 1
#46 DRILL HSS 06 01-46 EA 1
5133-00-189-9291
MAXI-KIT 06 01-46 KIT 1
#47 DRILL HSS 06 01-47 EA 1
5133-00-189-9292
MAXI-KIT 06 01-47 KIT 1

Page 19 of 29

1-2229



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
#48 DRILL HSS 06 01-48 EA 1
5133-00-189-9293
MAXI-KIT 06 01-48 KIT 1
#49 DRILL HSS 06 01-49 EA 1
5133-00-189-9294
MAXI-KIT 06 01-49 KIT 1
#50 DRILL HSS 06 01-50 EA 1
5133-00-189-9295
MAXI-KIT 06 01-50 KIT 1
#51 DRILL HSS 06 01-51 EA 1
5133-00-189-9296
MAXI-KIT 06 01-51 KIT 1
#52 DRILL HSS 06 01-52 EA 1
5133-00-189-9297
MAXI-KIT 06 01-52 KIT 1
#53 DRILL HSS 06 01-53 EA 1
5133-00-189-9298
MAXI-KIT 06 01-53 KIT 1
#54 DRILL HSS 06 01-54 EA 1
5133-00-189-9299
MAXI-KIT 06 01-54 KIT 1
#55 DRILL HSS 06 01-55 EA 1
5133-00-189-9300
MAXI-KIT 06 01-55 KIT 1
#56 DRILL HSS 06 01-56 EA 1
5133-00-189-9301
MAXI-KIT 06 01-56 KIT 1
#57 DRILL HSS 06 01-57 EA 1
5133-00-189-9302
MAXI-KIT 06 01-57 KIT 1
#58 DRILL HSS 06 01-58 EA 1
5133-00-189-9303
MAXI-KIT 06 01-58 KIT 1
#59 DRILL HSS 06 01-59 EA 1
5133-00-189-9034
MAXI-KIT 06 01-59 KIT 1

Page 20 of 29

1-2230



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty

R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert
#60 DRILL HSS 06 01-60 EA 1
5133-00-189-9305
MAXI-KIT 06 01-60 KIT 1
MAXI-KIT 06 02 KIT 1
DRILL SET, TWIST (1/16" - 1/2") 29pc + cont 06 02 SET 1
5133-00-293-0983

1/16 DRILL 06 02-01 EA 1
MAXI-KIT 06 02-01 KIT 1
5/64 DRILL 06 02-02 EA 1
MAXI-KIT 06 02-02 KIT 1
3/32 DRILL 06 02-03 EA 1
MAXI-KIT 06 02-03 KIT 1
7/64 DRILL 06 02-04 EA 1
MAXI-KIT 06 02-04 KIT 1
1/8 DRILL 06 02-05 EA 1
MAXI-KIT 06 02-05 KIT 1
9/64 DRILL 06 02-06 EA 1
MAXI-KIT 06 02-06 KIT 1
5/32 DRILL 06 02-07 EA 1
MAXI-KIT 06 02-07 KIT 1
11/64 DRILL 06 02-08 EA 1
MAXI-KIT 06 02-08 KIT 1
3/16 DRILL 06 02-09 EA 1
MAXI-KIT 06 02-09 KIT 1
13/64 DRILL 06 02-10 EA 1
MAXI-KIT 06 02-10 KIT 1

Page 21 of 29

1-2231



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty

R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty

PMEL/TMDE ID NSN Local Man Nuclear Cert

7/32 DRILL 06 02-11 EA 1
MAXI-KIT 06 02-11 KIT 1
15/64 DRILL 06 02-12 EA 1
MAXI-KIT 06 02-12 KIT 1
1/4 DRILL 06 02-13 EA 1
MAXI-KIT 06 02-13 KIT 1
17/64 DRILL 06 02-14 EA 1
MAXI-KIT 06 02-14 KIT 1
9/32 DRILL 06 02-15 EA 1
MAXI-KIT 06 02-15 KIT 1
19/64 DRILL 06 02-16 EA 1
MAXI-KIT 06 02-16 KIT 1
5/16 DRILL 06 02-17 EA 1
MAXI-KIT 06 02-17 KIT 1
21/64 DRILL 06 02-18 EA 1
MAXI-KIT 06 02-18 KIT 1
11/32 DRILL 06 02-19 EA 1
MAXI-KIT 06 02-19 KIT 1
23/64 DRILL 06 02-20 EA 1
MAXI-KIT 06 02-20 KIT 1
3/8 DRILL 06 02-21 EA 1
MAXI-KIT 06 02-21 KIT 1
25/64 DRILL 06 02-22 EA 1
MAXI-KIT 06 02-22 KIT 1

Page 22 of 29

1-2232



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
13/32 DRILL 06 02-23 EA 1
MAXI-KIT 06 02-23 KIT 1
27/64 DRILL 06 02-24 EA 1
MAXI-KIT 06 02-24 KIT 1
7/16 DRILL 06 02-25 EA 1
MAXI-KIT 06 02-25 KIT 1
29/64 DRILL 06 02-26 EA 1
MAXI-KIT 06 02-26 KIT 1
15/32 DRILL 06 02-27 EA 1
MAXI-KIT 06 02-27 KIT 1
31/64 DRILL 06 02-28 EA 1
MAXI-KIT 06 02-28 KIT 1
1/2 DRILL 06 02-29 EA 1
MAXI-KIT 06 02-29 KIT 1
BRUSH, CARD FILE 06 03 EA 1
7920-00-224-7987
MAXI-KIT 06 03 KIT 1
MAXI-KIT 06 04 KIT 1
FILE SET, SWISS (12pc + cont) 06 04 SET 1
5110-01-335-1600
FILE, SWISS, BARRETTE 06 04-01 EA 1
5110-00-242-0127
MAXI-KIT 06 04-01 KIT 1
FILE, SWISS, EQUALING 06 04-02 EA 1
5110-00-156-0062
MAXI-KIT 06 04-02 KIT 1
FILE, SWISS, FLAT 06 04-03 EA 1
5110-00-156-0063
MAXI-KIT 06 04-03 KIT 1

Page 23 of 29

1-2233



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
FILE, SWISS, MARKING 06 04-04 EA 1
5110-00-245-4165
MAXI-KIT 06 04-04 KIT 1
FILE, SWISS, JOINT 06 04-05 EA 1
5110-00-239-3281
MAXI-KIT 06 04-05 KIT 1
FILE, SWISS, KNIFE 06 04-06 EA 1
5110-00-156-0065
MAXI-KIT 06 04-06 KIT 1
FILE, SWISS, HALF ROUND 06 04-07 EA 1
5110-00-239-3269
MAXI-KIT 06 04-07 KIT 1
FILE, SWISS, ROUND 06 04-08 EA 1
5110-00-245-4177
MAXI-KIT 06 04-08 KIT 1
FILE, SWISS, SLITTING 06 04-09 EA 1
5110-00-239-7614
MAXI-KIT 06 04-09 KIT 1
FILE, SWISS, SQUARE 06 04-10 EA 1
5110-00-239-7602
MAXI-KIT 06 04-10 KIT 1
FILE, SWISS, THREE SQUARE 06 04-11 EA 1
5110-00-239-7590
MAXI-KIT 06 04-11 KIT 1
FILE, SWISS, CROSSING NEEDLE 06 04-12 EA 1
5110-00-242-0146
MAXI-KIT 06 04-12 KIT 1
FILE, FLAT, BASTARD 8" 06 05 EA 1
5110-00-249-2848
MAXI-KIT 06 05 KIT 1
FILE, FLAT, SECOND CUT 10" 06 06 EA 1
5110-00-234-6537
MAXI-KIT 06 06 KIT 1
FILE, ROUND 6" 06 07 EA 1
5110-00-234-6550
MAXI-KIT 06 07 KIT 1

Page 24 of 29

1-2234



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

FILE, ROUND, SECOND CUT 10" 06 08 EA 1
5110-00-234-6555

MAXI-KIT 06 08 KIT 1

FILE, SMOOTH CUT 8" 06 09 EA 1
5110-00-203-4935

MAXI-KIT 06 09 KIT 1

FILE, SQUARE 6" 06 10 EA 1
5110-00-203-4751

MAXI-KIT 06 10 KIT 1

FILE, SQUARE, SECOND CUT 10" 06 11 EA 1
5110-00-203-9804

MAXI-KIT 06 11 KIT 1

FILE, TRIANGULAR 6" 06 12 EA 1
5110-01-336-5672

MAXI-KIT 06 12 KIT 1

HACKSAW wr/blade 06 13 EA 2
5110-01-335-1366

MAXI-KIT 06 13 KIT 2

HANDLE, FILE, TWIST ON PT4 06 14 EA 1
5110-01-395-5763

MAXI-KIT 06 14 KIT 1

HANDLE, FILE, TWIST ON PT6 06 15 EA 1
5110-01-395-5764

MAXI-KIT 06 15 KIT 1

HANDLE, FILE, TWIST ON PT7 06 16 EA 1
5110-01-395-5663

MAXI-KIT 06 16 KIT 1

RETRIEVER, MAGNETIC 06 17 EA 1
5120-00-545-4268

MAXI-KIT 06 17 KIT 1

VISE, PIN 06 18 EA 1
5120-01-335-1372

MAXI-KIT 06 18 KIT 1

Sub Total: 240

Page 25 of 29

1-2235



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
CHISEL, CAPE 1/8" 0701 EA 1
5110-00-223-1087
MAXI-KIT 0701 KIT 1
CHISEL, CAPE 1/4" 07 02 EA 1
5110-00-197-9499
MAXI-KIT 07 02 KIT 1
CHISEL, COLD 1/4" 07 03 EA 1
5110-00-234-1972
MAXI-KIT 07 03 KIT 1
CHISEL, CAPE 3/8" 07 04 EA 1
5110-00-222-2128
MAXI-KIT 07 04 KIT 1
CHISEL, COLD 1/2" 07 05 EA 1
5110-00-186-7107
MAXI-KIT 07 05 KIT 1
CHISEL, COLD 3/4" 07 06 EA 1
5110-00-236-3272
MAXI-KIT 07 06 KIT 1
CHISEL, COLD 1" 07 07 EA 1
5110-00-234-1944
MAXI-KIT 07 07 KIT 1
KNIFE, PUTTY 07 08 EA 1
5120-00-221-1536
MAXI-KIT 07 08 KIT 1
PUNCH, PIN DRIVE 1/16" 07 09 EA 1
5120-00-240-6082
MAXI-KIT 07 09 KIT 1
PUNCH, PIN DRIVE 3/32" 07 10 EA 1
5120-00-242-3435
MAXI-KIT 07 10 KIT 1
PUNCH, PIN DRIVE 1/8" 0711 EA 1
5120-00-242-5966
MAXI-KIT 0711 KIT 1
PUNCH, PIN DRIVE 5/32" 07 12 EA 1
5120-00-240-6104
MAXI-KIT 07 12 KIT 1

Page 26 of 29

1-2236



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
PUNCH, PIN DRIVE 3/16" 07 13 EA 1
5120-00-293-0791
MAXI-KIT 07 13 KIT 1
PUNCH, PIN DRIVE 7/32" 07 14 EA 1
5120-00-293-0792
MAXI-KIT 07 14 KIT 1
PUNCH, PIN DRIVE 1/4" 07 15 EA 1
5120-00-240-6083
MAXI-KIT 07 15 KIT 1
PUNCH, PIN DRIVE 5/16" 07 16 EA 1
5120-00-293-0793
MAXI-KIT 07 16 KIT 1
PUNCH, PIN DRIVE 3/8" 07 17 EA 1
5120-00-273-0001
MAXI-KIT 07 17 KIT 1
MAXI-KIT 07 18 KIT 1
DIE, THREAD CUTTING, RH 3-56 NF 13/16" 07 18 SET 1
5120-00-203-7064
1/16 ALLEN WRENCH 07 18-01 EA 1
MAXI-KIT 07 18-01 KIT 1
5/64 ALLEN WRENCH 07 18-02 EA 1
MAXI-KIT 07 18-02 KIT 1
3/32 ALLEN WRENCH 07 18-03 EA 1
MAXI-KIT 07 18-03 KIT 1
1/8 ALLEN WRENCH 07 18-04 EA 1
MAXI-KIT 07 18-04 KIT 1
5/32 ALLEN WRENCH 07 18-05 EA 1
MAXI-KIT 07 18-05 KIT 1
3/16 ALLEN WRENCH 07 18-06 EA 1
MAXI-KIT 07 18-06 KIT 1

Page 27 of 29

1-2237



2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 626

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
7/32 ALLEN WRENCH 07 18-07 EA 1
MAXI-KIT 07 18-07 KIT 1
1/4 ALLEN WRENCH 07 18-08 EA 1
MAXI-KIT 07 18-08 KIT 1
5/16 ALLEN WRENCH 07 18-09 EA 1
MAXI-KIT 07 18-09 KIT 1
3/8 ALLEN WRENCH 07 18-10 EA 1
MAXI-KIT 07 18-10 KIT 1
WRENCH, COMBINATION 5/16" 07 19 EA 1
5120-01-335-1230
MAXI-KIT 07 19 KIT 1
WRENCH, COMBINATION 3/8" 07 20 EA 1
5120-01-335-1232
MAXI-KIT 07 20 KIT 1
WRENCH, COMBINATION 7/16" 07 21 EA 1
5120-01-335-1233
MAXI-KIT 07 21 KIT 1
WRENCH, COMBINATION 1/2" 07 22 EA 1
5120-01-335-1234
MAXI-KIT 07 22 KIT 1
WRENCH, COMBINATION 9/16" 07 23 EA 1
5120-01-335-1235
MAXI-KIT 07 23 KIT 1
WRENCH, COMBINATION 5/8" 07 24 EA 1
5120-01-335-1236
MAXI-KIT 07 24 KIT 1
WRENCH, COMBINATION 11/16" 07 25 EA 1
5120-01-335-1237
MAXI-KIT 07 25 KIT 1
WRENCH, COMBINATION 3/4" 07 26 EA 1
5120-01-335-1258
MAXI-KIT 07 26 KIT 1

Page 28 of 29

1-2238



13 £
Record Count: 626

\

2007/04/19 10:35:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF340 MACH SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
WRENCH, COMBINATION 13/16" 07 27 EA 1
5120-01-335-1259
MAXI-KIT 07 27 KIT 1
WRENCH, COMBINATION 7/8" 07 28 EA 1
5120-01-335-1260
MAXI-KIT 07 28 KIT 1
WRENCH, COMBINATION 15/16" 07 29 EA 1
5120-01-335-1261
MAXI-KIT 07 29 KIT 1
WRENCH, COMBINATION 1" 07 30 EA 1
5120-01-335-1262
MAXI-KIT 07 30 KIT 1
Sub Total: 80
CTK Component Total: 634
Inventory Reviewed on (date): by:
Brian Smith, SMSGT
Assistant Fabrication Flight Chief
Inventory Reviewed and Approved on (date): by:

Scott Schroeder, SMSGT
Fabrication Flight Chief

Page 29 of 29

1-2239



2007/04/19 10:35:45AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 45

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF34A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
KEY, TOOL BOX EA 1
INVENTORY LIST EA 1
FOD BAG EA 1
5140-00-LOC-ALMFG
Sub Total: 3
DRILL, PNUEMATIC 1/4" 0101 EA 1
5130-00-294-9511
KEY, CHUCK 0102 EA 1
5460-01-018-4217
DRILL, PNUEMATIC 3/8" 0103 EA 1
5130-00-288-7750
KEY, CHUCK 3/8" 0104 EA 1
WRENCH, IMPACT 3/8" 0105 EA 1
5130-01-335-1528
OIL, AIR TOOL LUBRICANT 01 06 BT 1
Sub Total: 6
Page 1 of 3

1-2240



2007/04/19 10:35:45AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 45

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF34A MACHINE SHOP LISTA CABINE  LINEKIT SET 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

DRILL SET, COBALT 5/16" (9pcs + cont) 0201 SET 1

DRILL, TWIST, COBALT 5/16" 02 01-01 EA 9
5133-00-988-5707

DRILL SET, COBALT 1/4" (7pcs + cont) 02 02 SET 1

DRILL, TWIST, COBALT 1/4" 02 02-01 EA 7
5133-00-988-5703

DRILL SET, COBALT 5/32" (10pcs + cont) 02 03 SET 1

DRILL, TWIST, COBALT 5/32" 02 03-01 EA 10
5133-00-988-5697

DRILL SET, COBALT #11 (10pcs + cont) 02 04 SET 1

DRILL, TWIST, COBALT #11 02 04-01 EA 10
5133-00-065-0980

DRILL SET, COBALT 7/64" (10pcs + cont) 02 05 SET 1

DRILL, TWIST, COBALT 7/64" 02 05-01 PG 10
5133-00-988-5694

DRILL SET, CARBIDE (4pcs + cont) 02 06 SET 1
NSL---

DRILL, TWIST, CARBIDE 7/32" .2188 02 06-01 EA 2
5133-00-841-8759

DRILL, TWIST, CARBIDE 5/32" .1562 02 06-02 EA 2
5133-00-850-3292

EXTRACTOR, SCREW SET #2 (10pcs + cont) 02 07 SET 1
5120-LO-CAL-MAN

EXTRACTOR, SCREW #2 02 07-01 EA 10
5120-00-580-2359

EXTRACTOR, SCREW SET #3 (10pcs + cont) 02 08 SET 1
5120-LO-CAL-MAN

EXTRACTOR, SCREW #3 02 08-02 EA 10
5120-00-240-5221

HOLDER, APEX 5/16" (3/8" DRIVE) 02 09 EA 1
5120-00-331-5502

BIT, APEX, PHILLIPS #2 - 5/16" X 1.25 02 09-01 EA 1
5130-00-240-5249

HOLDER, APEX 5/16" (3/8" DRIVE) 02 10 EA 1
5120-00-331-5502

BIT, APEX, PHILLIPS #3 - 5/16" X 1.25 02 10-01 EA 1
5130-00-240-5250

HOLDER, APEX 5/16" (3/8" DRIVE) 0211 EA 1
5120-00-331-5502

BIT, APEX, PHILLIPS #4 - 5/16" X 1.25 02 11-01 EA 1
5120-00-595-8198

BIT, APEX, PHILLIPS #2 - 5/16" X 1.25 0212 EA 4

5130-00-240-5249

Page 2 of 3

1-2241



2007/04/19 10:35:45AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 45
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF34A MACHINE SHOP LISTA CABINE  LINEKIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
BIT, APEX, PHILLIPS #3 - 5/16" X 1.25 0213 EA 4
5130-00-240-5250
BIT, APEX, PHILLIPS #4 - 5/16" X 1.25 02 14 EA 4
5120-00-595-8198
TAP HANDLE, RATCHETING 1/16 - 1/4" 02 15 EA 1
5120-00-517-5347
SCRIBER 02 16 EA 1
5120-00-224-9728
PUNCH, CENTER #2 02 17 EA 1
5120-00-239-3510
PUNCH, CENTER #5 02 18 EA 1
5120-00-239-3509
Sub Total: 100
PLIERS, NEEDLE NOSE 6" 0301 EA 1
5120-00-293-3481
NOZZLE, AIR 03 02 EA 1
4940-00-861-5570
HAMMER, BALL PEEN 8oz 0303 EA 1
5120-00-061-8541
VISE GRIP 5" 03 04 EA 1
5120-00-965-0406
SCREWDRIVER, PHILLIPS #2 x 4" 0305 EA 1
5120-00-234-8913
FLASHLIGHT, MINIMAG 03 06 EA 1
6230-01-259-4495
Sub Total: 6
CTK Component Total: 115
Inventory Reviewed on (date): by:
Brian Smith, SMSGT
Assistant Fabrication Flight Chief
Inventory Reviewed and Approved on (date): by:

Scott Schroeder, SMSGT
Fabrication Flight Chief

Page 3 of 3

1-2242



2007/04/19 10:36:14AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 36

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF350 MACH SHOP FLOOR TRUSS MOUNT REPAIR KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

MANDREL, UPPER TRUSS MOUNT KIT D101 EA 1
4920-NS-L-

GAGE, COMBINATION, UPPER TRUSS MOUNT KIT D1 02 EA 1
4920-NS-L-

JAW, UPPER TRUSS MOUNT KIT D103 EA 1
4920-NS-L-

REAMER, UPPER TRUSS MOUNT KIT D104 EA 1
4920-NS-L-

REAMER, UPPER TRUSS MOUNT KIT D105 EA 1
4920-NS-L-

REAMER, UPPER TRUSS MOUNT KIT D106 EA 1
4920-NS-L-

REAMER, UPPER TRUSS MOUNT KIT D107 EA 1
4920-NS-L-

GAGE, MANDREL, UPPER TRUSS MOUNT KIT D108 EA 1
4920-NS-L-

BUSHING, REAMER GUIDE, TRUSS MOUNT KIT D109 EA 1
4920-NS-L-

BUSHING, REAMER GUIDE, TRUSS MOUNT KIT D1 10 EA 1
4920-NS-L-

BUSHING, REAMER GUIDE, TRUSS MOUNT KIT D111 EA 1
4920-NS-L-

BUSHING, REAMER GUIDE, TRUSS MOUNT KIT D112 EA 1
4920-NS-L-

COUNTER SINK, TRUSS MOUNT KIT D113 EA 1
4920-NS-L-

PIN, ALIGNMENT FIXTURE, TRUSS MOUNT KIT D1 14 EA 1
4920-NS-L-

DRILL FIXTURE, UPPER TRUSS KIT D115 EA 1
4920-NS-L-

INVENTORY LIST D116 EA 1

Sub Total: 16

Page 1 of 3

1-2243



2007/04/19 10:36:14AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 36

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF350 MACH SHOP FLOOR TRUSS MOUNT REPAIR KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
MANDREL, LOWERE TRUSS MOUNT KIT D2 01 EA 1
4920-NS-L-
GAGE, COMBINATION, LOWER TRUSS MOUNT KIT D2 02 EA 1
4920-NS-L-
JAW, LOWER TRUSS MOUNT KIT D2 03 EA 1
4920-NS-L-
REAMER, LOWER TRUSS MOUNT KIT D2 04 EA 1
4920-NS-L-
REAMER, LOWER TRUSS MOUNT KIT D2 05 EA 1
4920-NS-L-
REAMER, LOWER TRUSS MOUNT KIT D2 06 EA 1
4920-NS-L-
GAGE, MANDREL, LOWER TRUSS MOUNT KIT D2 08 EA 1
4920-NS-L-
Sub Total: 7
PULLER UNIT, CHUCK ASSEMBLY ADAPTER D301 EA 1
4920-NS-L-
PULLER UNIT, CHECK ASSEMBLY ADAPTER 2 D3 02 EA 1
4920-NS-L-
SPANNER WRENCH, 1 1/4 - 3" D3 03 EA 1
5120-NS-L-
SOCKET SPANNER WRENCH, TRUSS MOUNT KIT D3 04 EA 1
4920-NS-L-
WRENCH, ALLEN 1/8" D3 05 EA 1
5120---
WRENCH, ALLEN 1/4" D3 06 EA 1
5120---
WRENCH, ALLEN METRIC .234 D3 06 EA 1
5120-NS-L-
Sub Total: 7
PORTABLE HYDRAULIC POWER PAK, TRUSS MOUNT D4 01 EA 1
KIT 4920-NS-L-
MANUAL, POWER PACK, FT-20 D4 02 EA 1
4920-NS-L-
MANUAL, PULLER UNIT D4 03 EA 1
4920-NS-L-
CD, TRUSS MOUNT REPAIR D4 04 EA 1
4920-NS-L-
BUSHING, BUSHING SLEEVE, LOWER D4 05 EA 2
3120-01-518-5159
BUSHING, BUSHING SLEEVE, UPPER D4 06 EA 2

3120-01-518-5161
Sub Total: 8

Page 2 of 3

1-2244



2007/04/19 10:36:14AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 36
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF350 MACH SHOP FLOOR TRUSS MOUNT REPAIR KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 38

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 3 of 3

1-2245



2007/04/19 10:23:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00004 shelf cab. 03 box 13 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, SMALL EA 1
5140-00-935-0720
INVENTORY LIST EA 1
Sub Total: 2
10-32 HELI-COIL INSERT, SCREW LOCKING, 9/32L 01 EA 10
5340-00-800-7874
Sub Total: 10
10-32 HELI-COIL INSERT, SCREW LOCKING, 3/8L 02 EA 10
5340-00-721-7653
Sub Total: 10
10-32 HELI-COIL INSERT, 3/8L 03 EA 10
5340-00-290-4480
Sub Total: 10
10-32 HELI-COIL EXTRACTOR 04 EA 1
5120-00-723-6833
Sub Total: 1
10-24 HELI-COIL INSERT, 9/32L 05 EA 10
5340-00-597-3304
Sub Total: 10
10-32 HELI-COIL INSERTER 06 EA 1
5120-00-797-2404
Sub Total: 1
10-32 HELI-COIL TANG BREAK-OFF TOOL 07 EA 1
5120-00-937-9730
Sub Total: 1
10-32 HELI-COIL TAP 08 EA 2
5136-00-825-7130
Sub Total: 2

Page 1 of 2

1-2246



2007/04/19 10:23:18AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00004 shelf cab. 03 box 13 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 47

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2247



2007/04/19 10:25:38AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00005 shelf cab. 03 box 12 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, SMALL EA 1
5140-00-935-0720
INVENTORY LIST EA 1
Sub Total: 2
1/4-20 HELI-COIL INSERT, SCREW LOCKING, 1/2L 01 EA 10
5340-00-721-8352
Sub Total: 10
1/4-20 HELI-COIL INSERT, SCREW LOCKING, 3/8L 02 EA 10
5340-00-754-0847
Sub Total: 10
1/4-20 HELI-COIL INSERT, 1/2L 03 EA 10
5340-00-286-2458
Sub Total: 10
1/4-20 HELI-COIL EXTRACTOR 04 EA 1
5120-00-723-6833
Sub Total: 1
1/4-20 HELI-COIL INSERT, 3/8L 05 EA 10
5340-00-290-4481
Sub Total: 10
1/4-20 HELI-COIL INSERTER 06 EA 1
5120-00-816-5707
Sub Total: 1
1/4-20 HELI-COIL TANG BREAK-OFF TOOL 07 EA 1
5120-00-937-9731
Sub Total: 1
1/4-20 HELI-COIL TAP 08 EA 2
5136-00-825-7126
Sub Total: 2

Page 1 of 2

1-2248



2007/04/19 10:25:38AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00005 shelf cab. 03 box 12 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 47

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2249



2007/04/19 10:36:44AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

12T \
Record Count: 67
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF520 WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
INVENTORY LIST EA 1
KEY, TOOL BOX EA 1
Sub Total: 2
BRUSH, WIRE 0101 EA 1
7920-00-269-1259
HAMMER, WELDERS 0102 EA 1
5120-00-585-2383
S 0103 EA 1
5120-00-494-1929
WRENCH, PIPE 14" 01 04 EA 1
5120-00-277-1486
PLIERS, SLIP JOINT 5-1/2" 0105 EA 1
5120-00-223-7396
VISE GRIP, LONG NOSE 9" 0106 EA 2
5120-00-148-5455
VISE GRIP, LONG NOSE 6" 0107 EA 2
5120-01-336-7773
PLIERS, CRIMPING TOOL 0108 EA 1
5120-00-278-2423
PLIERS, HOSE CLAMP 0109 EA 1
Sub Total: 11

Page 1 of 5

1-2250



2007/04/19 10:36:44AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 67

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF520 WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TORCH, CUTTING 0201 EA 1
TORCH, WELDING #55 02 02 EA 1
TORCH, WELDING #30 02 03 EA 1
TORCH, WELDING #15 02 04 EA 1
TORCH, WELDING #6 02 05 EA 1
SHEERS, METAL CUTTING 12" 02 06 EA 1
5110-01-335-1603
CHALK LINE & REEL 02 07 EA 1
5210-00-273-9793
COMB. SQ, MITER HEAD 02 08 EA 1
5210-01-335-9134
RULE, STEEL MACHINIST 12" 02 08-01 EA 1
5210-00-234-5224
CARPENTER'S SQUARE 02 09 EA 1
5210-01-336-5734
TAPE, STEEL 25' 02 10 EA 1
5210-01-139-7444
RASP 0211 EA 1

5110-00-914-2707
Sub Total: 12

Page 2 of 5

1-2251



2007/04/19 10:36:44AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 67

CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF520 WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
NOZZLE, AIR 0301 EA 1
4940-00-861-5570
SANDER, ANGLE PNEUMATIC 12,000 RPM 0302 EA 2
5130-01-900-9514
GRINDER, PNEUMATIC 20,000 RPM 03 03 EA 2
5130-01-335-4748
DRILL, PNEUMATIC, REVERSIBLE 3/8" 03 04 EA 1
5130-01-334-7682
KEY, CHUCK 3/8" 03 05 EA 1
DRILL, PNEUMATIC 1/2" 03 06 EA 1
5130-00-640-6343
KEY, CHUCK 1/2" 0307 EA 1
HANDLE, DRILL 03 08 EA 1
GRINDER SET, PNEU. DIE (11pc + cont) 03 09 SET 1
GRINDER, PNEUMATIC 40,000 RPM 03 09-01 EA 1
WRENCH, GRINDER 13mm 03 09-02 EA 2
COLLET, GRINDER 03 09-03 EA 1
BURR, SA-1 03 09-04 EA 1
BURR, SD-1 03 09-05 EA 1
BURR, SC-14 03 09-06 EA 1
BURR, SA-14 03 09-07 EA 1
BURR, SG-1 03 09-08 EA 1
BURR, SF-1 03 09-09 EA 1
BURR, SC-1 03 09-10 EA 1
64944 0310 EA 1
DIE, THREAD CUTTING, RH 12-28 NF 13/16" 0311 EA 1
BACK SPOTFACER, 11/16" DIA. 0312 EA 1
DIE, THREAD CUTTING, RH 9/16-18 NF 2" 0313 EA 1
DIE, THREAD CUTTING, RH 9/16-18 NF 2" 0314 EA 1

Page 3 0of 5

1-2252



2007/04/19 10:36:44AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 67
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF520 WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
Sub Total: 27
VISE GRIP, C-CLAMP 6" 0401 EA 6
5120-01-336-7976
VISE GRIP, C-CLAMP 11" 04 02 EA 12
5120-00-731-2862
VISE GRIP, C-CLAMP 24" 04 03 EA 6
5120-01-335-1548
VISE GRIP, SHEET METAL 04 04 EA 2
5120-00-494-1889
VISE GRIP, WELDING 04 05 EA 2
5120-00-494-1895
Sub Total: 28
SANDER, DISK, PNEUMATIC 3,000 rpm 05 01 EA 1
5130-01-335-4742
SPACER, DISK SANDER 05 02 EA 1
GRINDER, PNEU. DIE, 60,000 rpm 0503 EA 1
5130-01-354-4746
DRILL, PNEUMATIC, MORSE TAPER 05 04 EA 1
5130-00-288-7748
HANDLE, DRILL 0505 EA 1
BURR, ROTARY 1/8" (9pcs + cont) 05 06 SET 1
BURR, CB1A 05 06-01 EA 2
BURR, CB1A2 05 06-02 EA 1
BURR, CB2A 05 06-03 EA 1
BURR, CB2A2 05 06-04 EA 1
BURR, CB3A 05 06-05 EA 1
BURR, CB5A 05 06-06 EA 1
BURR, CB6A 05 06-07 EA 1
BURR, CB8A 05 06-08 EA 1
GRINDER, RIGHT ANGLE 14,000 rpm 05 07 EA 1
5130-01-335-4736
Sub Total: 16

Page 4 of 5

1-2253



2007/04/19 10:36:44AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

1Y \
Record Count: 67
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTKF520 WELD SHOP FLOOR MAXI-KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 96

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 5of 5

1-2254



2007/04/19 10:26:05AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00006 shelf cab. 03 box 11 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, SMALL EA 1
5140-00-935-0720
INVENTORY LIST EA 1
Sub Total: 2
1/4-20 HELI-COIL INSERT, SCREW LOCKING, 1/2L 01 EA 10
5340-00-721-8352
Sub Total: 10
1/4-28 HELI-COIL INSERT, SCREW LOCKING, 3/8L 02 EA 10
5340-00-829-2141
Sub Total: 10
1/4-28 HELI-COIL INSERT, 1/2L 03 EA 10
5340-00-290-4497
Sub Total: 10
1/4-28 HELI-COIL EXTRACTOR 04 EA 1
5120-00-723-6833
Sub Total: 1
1/4-28 HELI-COIL INSERT, 3/8L 05 EA 10
5340-00-291-3484
Sub Total: 10
1/4-28 HELI-COIL INSERTER 06 EA 1
5120-00-710-7435
Sub Total: 1
1/4-28 HELI-COIL TANG BREAK-OFF TOOL 07 EA 1
5120-00-937-9731
Sub Total: 1
1/4-28 HELI-COIL TAP 08 EA 2
5136-00-825-7119
Sub Total: 2

Page 1 of 2

1-2255



2007/04/19 10:26:05AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00006 shelf cab. 03 box 11 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 47

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2256



2007/04/19 10:26:34AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00007 shelf cab. 03 box 10 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, MEDIUM EA 1
5140-00-935-0719
INVENTORY LIST EA 1
Sub Total: 2
5/16-18 HELI-COIL TAP 01 EA 1
5136-00-825-7111
Sub Total: 1
5/16-18 HELI-COIL TANG BREAK-OFF TOOL 02 EA 1
5120-00-937-9732
Sub Total: 1
5/16-18 HELI-COIL INSERT, SCREW LOCKING, 5/8L 03 EA 8
5340-00-825-6938
Sub Total: 8
5/16-18 HELI-COIL INSERT, SCREW LOCKING, 21/32L 04 EA 8
5340-00-803-5574
Sub Total: 8
5/16-18 HELI-COIL EXTRACTOR 05 EA 1
5120-00-723-6833
Sub Total: 1
5/16-18 HELI-COIL INSERT, 21/32L 06 EA 8
5340-00-290-4521
Sub Total: 8
5/16-18 HELI-COIL INSERT, 5/8L 07 EA 8
5340-00-290-4520
Sub Total: 8
5/16-18 HELI-COIL INSERTER 08 EA 1
5120-00-804-6055
Sub Total: 1

Page 1 of 2

1-2257



2007/04/19 10:26:34AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00007 shelf cab. 03 box 10 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 38

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2258



2007/04/19 10:26:56AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00008 shelf cab. 03 box 9 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, MEDIUM EA 1
5140-00-935-0719
INVENTORY LIST EA 1
Sub Total: 2
5/16-24 HELI-COIL TAP 01 EA 1
5136-00-825-7108
Sub Total: 1
5/16-24 HELI-COIL TANG BREAK-OFF TOOL 02 EA 1
5120-00-937-9732
Sub Total: 1
5/16-24 HELI-COIL INSERT, SCREW LOCKING 5/8L 03 EA 8
5325-00-582-7256
Sub Total: 8
5/16-24 HELI-COIL INSERT, SCREW LOCKING 15/32L 04 EA 8
5325-00-847-0734
Sub Total: 8
5/16-24 HELI-COIL EXTRACTOR 05 EA 1
5120-00-723-6833
Sub Total: 1
5/16-24 HELI-COIL INSERT, 15/32L 06 EA 8
5325-00-291-3495
Sub Total: 8
5/16-24 HELI-COIL INSERT, 5/8L 07 EA 8
5325-00-514-2321
Sub Total: 8
5/16-24 HELI-COIL INSERTER 08 EA 1
5120-00-797-2405
Sub Total: 1

Page 1 of 2

1-2259



2007/04/19 10:26:56AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00008 shelf cab. 03 box 9 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 38

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2260



2007/04/19 10:27:19AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MTO00009 shelf cab. 03 box 8 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
TOOL BOX, PRTABLE, HELI-COIL KIT, MEDIUM EA 1
5140-00-935-0719
INVENTORY LIST EA 1
Sub Total: 2
3/8-16 HELI-COIL TANG BREAK-OFF TOOL 01 EA 1
5120-00-937-9733
Sub Total: 1
3/8-16 HELI-COIL TAP 02 EA 1
5136-00-825-7088
Sub Total: 1
3/8-16 HELI-COIL INSERT, SCREW LOCKING 3/4L 03 EA 8
5340-00-812-1894
Sub Total: 8
3/8-16 HELI-COIL INSERT, SCREW LOCKING, 9/16L 04 EA 8
5340-00-754-1976
Sub Total: 8
3/8-16 HELI-COIL EXTRACTOR 05 EA 1
5120-00-723-6833
Sub Total: 1
3/8-16 HELI-COIL INSERT, 9/16L 06 EA 8
5340-00-290-4518
Sub Total: 8
3/8-16 HELI-COIL INSERT, 3/4L 07 EA 8
5340-00-990-7157
Sub Total: 8
3/8-16 HELI-COIL INSERTER 08 EA 1
5120-00-797-2402
Sub Total: 1

Page 1 of 2

1-2261



2007/04/19 10:27:19AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 10
CTK ID Location CTK Nomenclature CTK UOI Qty
R7MT00009 shelf cab. 03 box 8 HELI-COIL KIT EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 38

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 2 of 2

1-2262



2007 /04 /19 10:20
Tool Accountability System
MIL for the Shop with Location Selection

\

Record Count: 98
Local Nuclear

Iltem ID Nomenclature Man Cert
Location Serial # PMEL/TMDE ID Unit of Issue Qty
Cabinet
C353407 MICROMETER, INSIDE 2 - 12" (7pc + cont)
Cabinet 01 EA 1
R7MT00021 CORDLESS DRILL 14 VOLT 3 pc. KIT
Cabinet 02D 4 2562M KIT 1
R7MT00020 CORDLESS DRILL 12 VOLT 3pc. KIT
Cabinet 03 B 3 778B494240133 KIT 1
Location Cabinet Subtotal: 3
MACH
R7MTKF330 MAXI-KIT
MACH SHOP FLOOR KIT 1
R7MTKF340 MAXI-KIT
MACH SHOP FLOOR KIT 1
R7MTKF350 TRUSS MOUNT REPAIR KIT
MACH SHOP FLOOR KIT 1
Location MACH Subtotal: 3
MACHINE
R7MTKF33A LINE KIT
MACHINE SHOP LISTA CABINE KIT 1
R7MTKF33B LINE KIT
MACHINE SHOP LISTA CABINE KIT 1
R7MTKF34A LINE KIT
MACHINE SHOP LISTA CABINE KIT 1
R7MT00017 AIR HOSE, 44Ft.
MACHINE SHOP WALL HANGER EA 1
R7MT00018 AIR HOSE, 50Ft.
MACHINE SHOP WALL HANGER EA 1
Location MACHINE Subtotal: 5
MS SHOP
R7MT00022 RADIUS GAGE SET 16 pc.
MS SHOP VID 01 DR 01 01 SET 1
R7MT00023 RADIUS GAGE SET, 8 pc.
MS SHOP VID 01 DR 01 02 SET 1
R7MT00024 RADIUS GAGE SET 9 pc.
MS SHOP VID 01 DR 01 03 SET 1
R7MT00025 GAGE, ACME THREAD PITCH
MS SHOP VID 01 DR 01 04 EA 1
R7MT00026 INDICATOR, DIAL TEST -0.050 - +0.050
MS SHOP VID 01 DR 01 05 E004393 EA 1
R7MT00027 SQUARE, PRECISION MACHINIST 14"
MS SHOP VID 01 DR 01 06 EA 1
R7MT00028 GAGE, SURFACE, SMALL
MS SHOP VID 01 DR 01 07 EA 1
R7MT00029 GAGE, SURFACE, LARGE
MS SHOP VID 01 DR 01 08 EA 1
R7MTO00030 SCALE, SURFACE FINISH
MS SHOP VID 01 DR 01 09 EA 1

Page 1 of 5

1-2263



2007 /04 /19 10:20
Tool Accountability System
MIL for the Shop with Location Selection

\

Record Count: 98
Local Nuclear

Item ID Nomenclature Man Cert

Location Serial # PMEL/TMDE ID Unit of Issue Qty

MS SHOP

R7MT00031 TRAMMEL POINTS

MS SHOP VID 01 DR 01 10 BOX 1
R7MT00032 GAGES, PIN 10pc.

MS SHOP VID 01 DR 01 11 SET 1
R7MT00033 PROTRACTOR, BEVEL, VERNIER

MS SHOP VID 01 DR 01 12 EA 1
R7MT00034 V-BLOCK CLAMP, 2 1/2"

MS SHOP VID 01 DR 01 13 EA 1
R7MT00035 V-BLOCK CLAMP, 2 1/2"

MS SHOP VID 01 DR 01 14 EA 1
R7MT00036 V-BLOCK CLAMP, 2 1/2"

MS SHOP VID 01 DR 01 15 EA 1
R7MT00037 V-BLOCK CLAMP, 2 1/2"

MS SHOP VID 01 DR 01 16 EA 1
R7MT00038 V-BLOCK CLAMP, 1 1/4"

MS SHOP VID 01 DR 01 17 EA 1
R7MT00039 V-BLOCK CLAMP, 1 1/2"

MS SHOP VID 01 DR 01 18 EA 1
R7MT00040 V-BLOCK CLAMP, 1 1/2"

MS SHOP VID 01 DR 01 19 EA 1
R7MT00041 V-BLOCK CLAMP, 1 1/2"

MS SHOP VID 01 DR 01 20 EA 1
R7MT00042 PARALLEL ADJUSTABLE SET, 6pc.

MS SHOP VID 01 DR 01 21 SET 1
R7MT00043 GAGE, SMALL HOLE (4pc + cont)

MS SHOP VID 01 DR 01 22 SET 1
R7MT00044 PARALLEL 1/2" SET, 8pc.

MS SHOP VID 01 DR 01 23 EA 1
R7MT00045 PARALLEL 3/4" SET, 8pc.

MS SHOP VID 01 DR 01 24 EA 1
R7MT00046 TRAMMEL SET

MS SHOP VID 01 DR 01 25 SET 1
R7MT00047 V-BLOCK, 11/2x11/2x2"

MS SHOP VID 01 DR 01 26 PR 1
R7MT00048 V-BLOCK, 11/2x11/2x 2"

MS SHOP VID 01 DR 01 27 PR 1
R7MT00049 V-BLOCK, 11/2x11/2x 2"

MS SHOP VID 01 DR 01 28 PR 1
R7MT00050 V-BLOCK, 11/2x11/2x2"

MS SHOP VID 01 DR 01 29 PR 1
R7MT00051 V-BLOCK, 11/4x11/4x15/8"

MS SHOP VID 01 DR 01 30 PR 1
R7MT00052 V-BLOCK, 11/4x11/4x15/8"

MS SHOP VID 01 DR 01 31 PR 1
R7MT00053 GAGE, SCREW PITCH, MATRIC 0.50 - 6.50

MS SHOP VID 01 DR 01 32 EA 1

Page 2 of 5

1-2264



Record Count: 98

2007 /04 /19 10:20

Tool Accountability System

MIL for the Shop with Location Selection
\

Local Nuclear

Item ID Nomenclature Man Cert

Location Serial # PMEL/TMDE ID Unit of Issue Qty

MS SHOP

R7MT00054 GAGE, SCREW PITCH, MATRIC 0.90 - 6.0

MS SHOP VID 01 DR 01 33 EA 1
R7MT00055 STRAIGHT EDGE, 36 x 2 1/2 X .250

MS SHOP VID 01 DR 01 34 EA 1
R7MT00056 V-BLOCK, 1 7/8 x1 7/8 x 3 1/2"

MS SHOP VID 01 DR 01 35 EA 1
R7MT00057 V-BLOCK, 21/2x21/2 x 3"

MS SHOP VID 01 DR 01 36 PR 1
R7MT00058 V-BLOCK, 21/2x2 1/2 x 3"

MS SHOP VID 01 DR 01 37 PR 1
R7MT00059 MICROMETER OUTSIDE, SET, 0-6" (12pc + cont)

MS SHOP VID 01 DR 02 01 SET 1
R7MT00060 CALIPER, VERNIER 24"

MS SHOP VID 01 DR 02 02 EA 1
R7MT00061 HARDNESS TESTER

MS SHOP VID 01 DR 02 03 EA 1
R7MT00062 MICROMETER, DEPTH 0 - 6" + Box

MS SHOP VID 01 DR 02 04 EA 1
R7MT00063 CALIPER, VERNIER, 14"

MS SHOP VID 01 DR 02 05 BOX 1
R7MT00064 GAGE, DEPTH, MICROMETER, 0-10"+ Box

MS SHOP VID 01 DR 02 06 EA 1
R7MT00065 GAGE, DIAL BORE .700 - 6..000

MS SHOP VID 01 DR 03 01 N/A SET 1
R7MT00066 CALIPER, DIAL VERNIER 12" + Case

MS SHOP VID 01 DR 03 02 7H 0590 01 C353453 EA 1
R7MT00067 MICROMETER, INSIDE 2 - 40" (11pc + cont)

MS SHOP VID 01 DR 03 03 C353505 SET 1
R7MT00068 MICROMETER, INSIDE 2 - 12" (10pcs. + case)

MS SHOP VID 01 DR 03 04 A660445 EA 1
R7MT00069 GAGE, DEPTH, DIAL INDICATING + Case

MS SHOP VID 01 DR 03 05 C353524 EA 1
R7MT00070 GAGE, DIAL BORE 1/2 -2 3/8"

MS SHOP VID 01 DR 03 06 SET 1
R7MT00071 INDICATOR HOLDER, UNIVERSAL

MS SHOP VID 01 DR 03 07 EA 1
R7MT00072 GAGE, RING, RINGMASTER, 1.500

MS SHOP VID 01 DR 03 08 EA 1
R7MT00073 GAGE, RING, RINGMASTER, 1.4375

MS SHOP VID 01 DR 03 09 EA 1
R7MT00074 GAGE, RING, RINGMASTER, 1.375"

MS SHOP VID 01 DR 03 10 EA 1
R7MTO00075 GAGE, RING, RINGMASTER, 1.25"

MS SHOP VID 01 DR 03 11 EA 1
R7MT00076 GAGE, RING, RINGMASTER, 1.125"

MS SHOP VID 01 DR 03 12 EA 1

Page 3 0of 5

1-2265



Record Count: 98

2007 /04 /19 10:20

Tool Accountability System

\

MIL for the Shop with Location Selection

Local Nuclear

Item ID Nomenclature Man Cert

Location Serial # PMEL/TMDE ID Unit of Issue

MS SHOP

R7MT00077 INDICATOR, 1" DIAL TEST -0.015 - +0.015

MS SHOP VID 01 DR 03 13 E004394 EA
R7MT00079 MICROMETER, THREAD COMPARATOR 0-1"

MS SHOP VID 01 DR 03 15 C353504 EA
R7MT00080 INDICATOR, CO-AX 4pc. + Case

MS SHOP VID 01 DR 03 16 EA
R7MT00081 RADII-CUTTER, SET

MS SHOP VID 01 DR 04 01 SET
R7MT00082 INDICATOR, DIAL, GROOVE

MS SHOP VID 01 DR 04 02 EA
R7MT00083 LEVEL, PRECISION, MASTER 15" 3pc. + Case

MS SHOP VID 01 DR 04 03 C878535 EA
R7MT00084 HEIGHT GAGE, DIGITAL 0-12"

MS SHOP VID 01 DR 04 04 A660478 EA
R7MT00085 ANGLE PLATE, 6 x 6 x 8"

MS SHOP VID 01 DR 04 05 EA
R7MT00086 ANGLE PLATE, 6 x 6 x 8"

MS SHOP VID 01 DR 04 06 EA
R7MT00087 PUNCH SET, TRANSFER 3/32 - 1/2" 28pc. + Case

MS SHOP VID 01 DR 04 07 SET
R7MT00088 PUNCH SET, TRANSFER No. 1-60 + Case

MS SHOP VID 01 DR 04 08 SET
VIDMAR CNC TOOL HOLDERS

MS SHOP VID 05 SET

Location MS SHOP Subtotal: 67

shelf cab.

R7MT00019
shelf cab. 01 A 01

R7MT00016
shelf cab. 03 box 1

R7MTO00007 HELI-COIL KIT
shelf cab. 03 box 10

R7MTO00006 HELI-COIL KIT
shelf cab. 03 box 11

R7MTO00005 HELI-COIL KIT
shelf cab. 03 box 12

R7MTO00004 HELI-COIL KIT
shelf cab. 03 box 13

R7MT00003 HELI-COIL KIT
shelf cab. 03 box 14

R7MT00002 HELI-COIL KIT
shelf cab. 03 box 15

R7MTO00001 HELI-COIL KIT
shelf cab. 03 box 16

R7MTO00015 HELI-COIL KIT
shelf cab. 03 box 2

HELI-COIL KIT

TOOL POUCH, MECHANIC'S

Page 4 of 5

EA

KIT

KIT

KIT

KIT

KIT

KIT

KIT

KIT

KIT

1-2266



Record Count: 98

2007 /04 /19 10:20

Tool Accountability System
MIL for the Shop with Location Selection

\

Local Nuclear

Item ID Nomenclature Man Cert
Location Serial # PMEL/TMDE ID Unit of Issue Qty
shelf cab.
R7MT00014 HELI-COIL KIT
shelf cab. 03 box 3 KIT 1
R7MT00013 HELI-COIL KIT
shelf cab. 03 box 4 KIT 1
R7MT00012 HELI-COIL KIT
shelf cab. 03 box 5 KIT 1
R7MT00011 HELI-COIL KIT
shelf cab. 03 box 6 KIT 1
R7MT00010 HELI-COIL KIT
shelf cab. 03 box 7 KIT 1
R7MT00009 HELI-COIL KIT
shelf cab. 03 box 8 KIT 1
R7MT00008 HELI-COIL KIT
shelf cab. 03 box 9 KIT 1
Location shelf cab. Subtotal: 17
Tool Box
R7334B031 MICROMETER, OUTSIDE 1-2"
Tool Box EA 1
Location Tool Box Subtotal: 1
WELD
R7MTKF32A MAXI-KIT
WELD SHOP FLOOR KIT 1
R7MTKF520 MAXI-KIT
WELD SHOP FLOOR KIT 1

Location WELD Subtotal: 2

Quantity Grand Total: 98

Inventory Reviewed on (date)

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date)

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 5of 5

1-2267



2007/04/19 10:37:11AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

TS '
Record Count: 40
CTK ID Location CTK Nomenclature CTK UOI Qty
VIDMAR MS SHOP VID 05 CNC TOOL HOLDERS EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
HOLDER, #2 MORSE TAPER, CNC MILL EA 1
3460-00-NSL-
HOLDER, #3 MORSE TAPER, CNC MILL EA 1
3460-00-NSL-
HOLDER, COLLET CHUCK, CNC MILL, 3/32-1" EA 1
3460-00-NSL-
HOLDER, COLLET CHUCK, CNC MILL, 5/64 - 1" EA 1
3460-00-NSL-
HOLDER, DRILL CHUCK, CNC MILL EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 1" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 1/2" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 1/2" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 1/4" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 1/4" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 3/4" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 3/4" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 3/8" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 3/8" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 5/16" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 5/8" EA 1
3460-00-NSL-
HOLDER, END MILL, CNC MILL 7/8" EA 1
3460-00-NSL-
HOLDER, SHELL MILL, CNC MILL 1" EA 1
3460-00-NSL-
HOLDER, SHELL MILL, CNC MILL 3/4" EA 1
3460-00-NSL-
HOLDER, TAP, CNC MILL, #1 EA 1
3460-00-NSL-
HOLDER, TAP, CNC MILL, #2 EA 1
3460-00-NSL-
COLLET CHUCK, 200DA CNC MILL 3/4 x7.125 EA 1
3460-00-NSL-
COLLET, 200DA, CNC MILL 1/4" EA 1
3460-00-NSL-
COLLET, 200DA, CNC MILL 1/8" EA 1
3460-00-NSL-
Page 1 of 3

1-2268



2007/04/19 10:37:11AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

TS '
Record Count: 40
CTK ID Location CTK Nomenclature CTK UOI Qty
VIDMAR MS SHOP VID 05 CNC TOOL HOLDERS EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert
COLLET, 200DA, CNC MILL 11/32" EA 1
3460-00-NSL-
COLLET, 200DA, CNC MILL 3/16" EA 1
3460-00-NSL-
COLLET, 200DA, CNC MILL 3/8" EA 1
3460-00-NSL-
COLLET, 200DA, CNC MILL 5/16" EA 1
3460-00-NSL-
COLLET, 200DA, CNC MILL 5/32" EA 1
3460-00-NSL-
COLLET, 200DA, CNC MILL 7/32" EA 1
3460-00-NSL-
COLLET, 200DA, CNC MILL 9/32" EA 1
3460-00-NSL-
COLLET CHUCK, 300DA CNC MILL 1/2 x 6.812 EA 1
3460-00-NSL-
COLLET, 300DA, CNC MILL 1/16" EA 1
3460-00-NSL-
COLLET, 300DA, CNC MILL 1/32" EA 1
3460-00-NSL-
COLLET, 300DA, CNC MILL 1/4" EA 1
3460-00-NSL-
COLLET, 300DA, CNC MILL 1/8" EA 1
3460-00-NSL-
COLLET, 300DA, CNC MILL 3/16" EA 1
3460-00-NSL-
COLLET, 300DA, CNC MILL 3/32" EA 1
3460-00-NSL-
COLLET, 300DA, CNC MILL 5/32" EA 1
3460-00-NSL-
COLLET, 300DA, CNC MILL 7/32" EA 1
3460-00-NSL-
Sub Total: 40
Page 2 of 3

1-2269



2007/04/19 10:37:11AM

Tool Accountability System
MIL for CTKs/Kits with Item ID Selection

Y| \
Record Count: 40
CTK ID Location CTK Nomenclature CTK UOI Qty
VIDMAR MS SHOP VID 05 CNC TOOL HOLDERS EA 1
Nomenclature Serial Number Location uol Qty
PMEL/TMDE ID NSN Local Man Nuclear Cert

CTK Component Total: 40

Inventory Reviewed on (date):

Brian Smith, SMSGT
Assistant Fabrication Flight Chief

Inventory Reviewed and Approved on (date):

Scott Schroeder, SMSGT
Fabrication Flight Chief

by:

by:

Page 3 of 3

1-2270



	Metal Technology CS.pdf
	Metal Technology.pdf
	ctk1.pdf
	ctk10.pdf
	ctk11.pdf
	ctk12.pdf
	ctk13.pdf
	ctk14.pdf
	ctk15.pdf
	ctk16.pdf
	ctk2.pdf
	ctk20.pdf
	ctk21.pdf
	ctk3.pdf
	ctk32.pdf
	ctk33.pdf
	ctk33a.pdf
	ctk33b.pdf
	ctk34.pdf
	ctk34a.pdf
	ctk35.pdf
	ctk4.pdf
	ctk5.pdf
	ctk52.pdf
	ctk6.pdf
	ctk7.pdf
	ctk8.pdf
	ctk9.pdf
	mtech shop list.pdf
	vidmar.pdf


